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TCS PAPER ON 17th JULY 2008

Hi I am Sukhi Tandan from Bit mesra Ranchi MTech Computer science . we were having
on campus drive of TCS on 15,16 & 17 July 2008.All together there were 730 were
there,650 cleared the written test and finally 264 got through the Campus, And I was one
of them. All the aptitude Questions were repeated from previous year papers from TCS.
For critical reasoning section go through the GRE 12th edition, it is available on the net.
Even if u r not able to solve that just mug up the answers. But its my sincere request to u
please understand the fundamentals behind each questions .they are changing the names
and sequence of the questions too. better if u understand it

First there will be PPT from TCS .U MAY ASK SOME GENUINE QUERY TO

THEM .BUT NO NONSENSE QUERIES and make your own ID. Then they will give u
the details of online test. There is no sectional cut off ,attempt as much question from
aptitude section, as most of them are repeated

There will be three section
1.English 32 questions 20min
2.Aptitude section 38ques 40 min.
3.critical reasoning 12ques 30min.

Online Written Test...
1.ENGLISH SECTION: PLEASE HAVE A LOOK ON THESE:

We had 10 synonyms and 10 antonyms For each of the words in Capital letters, choose
from among the answers, the word that is closest in meaning:

Q No. 1 GARRULOUS

(a) Arid (b) Hasty (c) Sociable (d) Quaint (e) Talkative

Q No. 2 INTER

(a) Bury (b) Amuse (c) Relate (d) Frequent (e) Abandon

Q No. 3 CHIMERICAL

(a) Developing (b) Brief (c) Distant (d) Economical (e) Fantastic

Q No. 4 BROCHURE

(a) Opening (b) Pamphlet (¢) Censor (d) Bureau (e) Pin

Q No. 5 EQUANIMITY

(a) Clamour (b) Disparity (c) Composure (d) Propensity (e) Indivisibility
Q No. 6 GALLEON

(a) Liquid measure (b) Ship (c) Armada (d) Company (e) Printer’s proof
Q No. 7 REGAL

(a) Oppressive (b) Royal (¢) Major (d) Basic (¢) Entertain

Q No. 8 MUSTY

(a) Stale (b) Necessary (c) Indifferent (d) Nonchalant (e) Vivid

Q No. 9 INDIGNITY

(a) Pomposity (b) Bombast (c) Obeisance (d) Insult (e) Message

Q No. 10 CANDID

(a) Vague (b) Outspoken (c) Experience (d) Anxious (e) Sallow
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For each of the words in capital letters, choose from among the answers, the closest word
that has the opposite meaning:

Q No. 11 REPUDIATE

(a) Hesitant (b) Neutrality (c) Admit (d) Polite (¢) Incongruity

Q No. 12 CREDIT

(a) Believe false (b) Treat as equal (c) Make more difficult (d) Underemphasize ()
Irresolute

Q No. 13 TENACIOUS

(a) Fast-running (b) Intention (c¢) Obnoxious (d) Holding fast (e) Irresolute

Q No. 14 PRECIPITATE

(a) Intricate (b) Devious (c) Posthumous (d) Dilatory (e) Contradictory

Q No. 15 QUIXOTIC

(a) Slow (b) Abstemious (c) Pragmatic (d) Benevolent (¢) Grave

Q No. 16 ADMONITION

(a) Premonition (b) Hallucination (¢) Escape (d) Commendation (e) Trepidation
Q No. 17 PROCLIVITY

(a) Prodigality (b) Avoidance (c) Credence (d) Calumny (e) Inception

Q No. 18 OMNISCIENCE

(a) Power (b) Extravagance (c) Magnanimity (d) Conscience (e) Ignorance

Q No. 19 PRECIPITIOUS

(a) Cooperative (b) Cautious (c) Inaccurate (d) Formal (e) Simplistic

Q No. 20 PROTRACT

(a) Detfy (b) Supplement (c) Postpone (d) Shorten (e) Design

For each of the words in Capital letters, choose from among the answers, the word that is

closest in meaning :

Q No. 1 CONTROVERT

(a) Turn over (b) Contradict (c¢) Mind (d) Explain (e) Swing

Q No. 2 MIRAGE

(a) Dessert (b) Illusion (¢) Water (d) Mirror (e) Statement

Q No. 3 INTERDICT

(a) Acclaim (b) Dispute (c) Prohibit (d) Decide (e) Fret

Q No. 4 INCONTINENT

(a) Insular (b) Complaisant (c) Grass (d) Wanton (e) Faults

Q No. 5 GADFLY

(a) Humourist (b) Nuisance (c) Scholar (d) Bum (e) Thief

Q No. 6 DECIMATE

(a) Kill (b) Disgrace (c) Search (d) Collide (e) Deride

Q No. 7 MESMERIZE

(a) Remember (b) Hypnotize (c) Delay (d) Bore () Analyze

Q No. 8 SEDATE

(a) Unify (b) Immunize (c) Tranquilize (d) Stimulate (e) Injure

Q No. 9 DECOROUS

(a) momentary (b) Emotional (c) Suppressed (d) Proper (e) Unexpected

Q No. 10 REPUGNANCE

(a) belligerence (b) Tenacity (c) Renewal (d) Pity (e) Loathing
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For each of the words in capital letters, choose from among the answers, the closest word
that has the opposite meaning:

Q No. 11 TANTAMOUNT

(a) Not negotiable (b) not equivalent (c) Not ambitious (d) Not evident (e) Not relevant
Q No. 12 ABIDE

(a) Retract an offer (b) Refuse to endure (c) Shield from harm (d) Exonerate (¢) Welcome
Q No. 13 PROSPEROUS

(a) Disengage (b) Impoverished (c) Refute thoroughly (d) Answer hypothetically (e)
Consider genuinely
Q No. 14 VOUCHSAFE

(a) Postpone (b) Dissemble (c) Endanger (d) Prohibit (e) Justify
Q No. 15 CAVIL

(a) Discern (b) Disclose (c) Introduce (d) Flatter (¢) Commend

Q No. 16 BOORISH

(a) Juvenile (b) Well mannered (¢) Weak minded (d) Unique (e) Concealed

Q No. 17 ANTITHETICAL

(a) Qualitative (b) Unnatural (c) Deceptive (d) Supportive (e) Noncommittal

Q No. 18 REVILE

(a) Compose (b) Awake (¢) Deaden (d) Praise (e) Secrete
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Q No. 19 DESULTORY

(a) Apologetic (b) Independent (c) Laudatory (d) Questionable (e) Methodical

Q No. 20 ASSUAGE

(a) Wane (b) Belie (c) Worsen (d) Intervene (e) Presume

For each of the words in Capital letters. Choose from among the answers, the word that is
closest in meaning :

Q No. 1 CLEFT

(a) Split (b) Waterfall (c) Assembly (d) Adherence (e) Surplus

Q No. 2 ISOTROPIC

(a) Feeling cold (b) Being isolated (c) Showing warm (d) Having uniformity (e) Creating
wealth

Q No. 3 TAWDRY

(a) Orderly (b) Meretricious (c) Reclaimed (d) Filtered (e) Proper
Q No. 4 FURTIVE

(a) Underhanded (b) Coy (c) Brilliant (d) Quick (e) Abortive

Q No. 5 EQUANIMITY

(a) Clamour (b) Disparity (c) Composure (d) Propensity (e) Indivisibility

Q No. 6 INCRIMINATE

(a) Exacerbate (b) Involve (¢) Intimidate (d) Lacerate (¢) Prevaricate
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Q No. 7 INTREPID

(a) Cold (b) Hot (c¢) Understood (d) Callow (e) Courageous

Q No. 8 INNOCUOUS

(a) Not capable (b) Not dangerous (c¢) Not eager (d) Not frank (e) Not peaceful

Q No. 9 TRANSLUCENT

(a) Clear (b) Opaque (c) Movement (d) Efficient (e) Telepathy

Q No. 10 BRACKISH

(a) Careful (b) Salty (c) Chosen (d) Tough (e) Wet

For each of the words in capital letters, choose from among the answers, the closest word
that has the opposite meaning:

Q No. 11 COMPLY

(a) Simplify (b) Strive (c¢) Rebel (d) Unite (e) Appreciate

Q No. 12 RETROSPECTION

(a) Introversion (b) Deliberation (c) Anticipation (d) Gregariousness (e) Equivocation

Q No. 13 HAPLESS

(a) Fortuitous (b) Fortunate (c¢) Fortifield (d) Forbidden (e) Forestalled

Q No. 14 PRECIPITATE

(a) Intricate (b) Devious (c) posthumous (d) Dilatory (e) Contradictory
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Q No. 15 SEDULOUS

(a) Tangential (b) Rampant (c) Esoteric (d) Morose () Indolent

Q No. 16 HAMPER

(a) Feed (b) Animate (c) Facilitate (d) Treat lightly (¢) Caution tactfully

Q No. 17 URBANE

(a) Civic (b) Remote (¢) Deceptive (d) Conventional (¢) Naive

Q No. 18 DISINGEOUS

(a) Naive (b) Accurate (c) Hostile (d) Witty (e) Polite

Q No. 19 TRACTABLE

(a) Incoherent (b) Advisable (c) Simplistic (d) Influential (¢) Uncooperative

Q No. 20 PROPITIOUS

(a) Adjacent (b) Clandestine (c) Contentious (d) Unfavourable (e) Coy

2. FILL THE BLANKS:

Observe the dilemma of the fungus; it is a plant, but possesses no chlorophyll. While all
other plants put the sun’s energy to work for them combining the nutrients of ground and
air into the body structure. 1 .Chlorophyll is found in these other plants
which, having received their energy free from the sun, relinquishit 2

In this search of energy, the fungus has become the earth’s major source of rot and decay.
Wherever you see mould forming on a piece of bread, or a pile of leaves turning to
compost, or a bloom down tree becoming pulp on the ground, 3
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With fungus action, the earth would be pooled high with 4
In fact, certain plants which contain resins that are 5 . Specimen of the
redwood tree, for instance can still be found 6

A. You are watching a fungus acting.

B. Resting on the forest floor centuries after having been cut down.
C. Responsible for decomposition of much plant life.

D. Fungus must look elsewhere for an energy supply.

E. Cannot produce their own store of energy.

F. The dead plant life of past centuries.

G. At some point in their cycle either to animal or to fungi.

H. Fungus is vastly different from other plants.

I. Toxic to fungi will last indefinitely.

3.AND A PASSAGE

QUANTITATIVE APTITUDE SECTION

1. Two pencils costs 8 cents, then 5 pencils cost how much

Sol: 2 pencils ¢ 8 cents => 1 pencil ¢ 4 cents

Therefore 5 pencils cost =5 * 4 = 20 cents.

2. A work is done by two people in 24 min. one of them can do this work a lonely in 40
min. how much time required to do the same work for the second person.

Sol: (A+B) can do the work in = 1/24 min.

A alone can do the same work in = 1/40 min.

B alone can do the same work in = (A+B)’s — A’s = 1/24 — 1/40 = 1/60

Therefore, b can do the same work in = 60 min.

3.A car is filled with four and half gallons of oil for full round trip. Fuel is taken 1/4
gallon more in going than coming. What is the fuel consumed in coming up?

Sol Before the trip, car is filled with = 4 }4 gallon of oil

Let ‘X’ be the quantity of fuel consumed for the trip in one direction

The fuel consumed while going = X + %4

The fuel consumed while coming = X

Therefore, the fuel consumed for the trip = (X + %) + X =4

02X+ u=4%=>2X=4"-"Y=>2X=4"=>X=2. approx

Therefore the fuel consumed while coming = 2 gallon.

4. Low temperature at the night in a city is 1/3 more than 1/2 high as higher temperature
in a day. Sum of the low temperature and highest temp. is 100 degrees. Then what is the
low temp?

Sol: 40 deg..

5. A person, who decided to go to weekend trip should not exceed 8 hours driving in a
day. Average speed of forward journey is 40 m/h. Due to traffic in Sundays, the return
journey average speed is 30 m/h. How far he can select a picnic spot?

a) 120 miles

b) Between 120 and 140 miles

c) 160 miles

Answer: 120 miles.
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6. A person was fined for exceeding the speed limit by 10mph. Another person was also
fined for exceeding the same speed limit by twice the same. If the second person was
traveling at a speed of 35 mph, find the speed limit.

Sol: Let ‘x’ be the speed limit

Person ‘A’ was fined for exceeding the speed limit by = 10mph

Person ‘B’ was fined for exceeding the speed limit by = twice of ‘A’

= 2*10mph=20mph given that the second person was traveling at the speed of 35mph =>
35mph — 20mph = 15mph

Therefore the speed limit is =15 mph.

7.A bus started from bus stand at 8.00am, and after 30 minutes staying at destination, it
returned back to the bus stand. The destination is 27 miles from the bus stand. The speed
of the bus is 18mph. In return journey bus travels with 50% fast speed. At what time it
returns to the bus stand?

Sol: 11.00am.

8.In a mixture, R is 2 parts S is 1 part. In order to make S to 25% of the mixture, how
much r is to be added?

Sol: One Part.

9. Wind flows 160 miles in 330 min, for 80 miles how much time required.

Sol:.

10. With 4/5 full tank vehicle travels 12 miles, with 1/3 full tank how much distance
travels

Sol: ( 5 miles ).

11. A storm will move with a velocity of towards the center in hours, at the same rate
how much far will it move in hrs.

Sol: ( but the answer is 8/3 or 2 2/3 ).

12. In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory,
with the address of the first element X (1, 1) is 3000; find the address of X (8, 5).

Ans: 3212.

13. In the word ORGANISATIONAL, if the first and second, third and forth, forth and
fifth, fifth and sixth words are interchanged up to the last letter, what would be the tenth
letter from right?

Ans:]

14. What is the largest prime number that can be stored in an 8-bit memory?

Ans : 251

15. Select the odd one out.....a. Java b. Lisp c. Smalltalk d. Eiffel.

16. Select the odd one out a. SMTP b. WAP c. SAP d. ARP

17. Select the odd one out a. Oracle b. Linux c. Ingress d. DB2

18. Select the odd one out a. WAP b. HTTP c. BAAN d. ARP

19. Select the odd one out a. LINUX b. UNIX c¢. SOLARIS d. SQL SEVER

20. Select the odd one out a. SQL b. DB2 ¢. SYBASE d. HTTP

21. The size of a program is N. And the memory occupied by the program is given by M
= square root of 100N. If the size of the program is increased by 1% then how much
memory now occupied?

Ans: 0.5%(SQRT 101N)

22. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in
24 days. Woman can do it in 16 days and in how many days child can do the same work?
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Ans: 16

23. In which of the system, decimal number 184 is equal to 1234?

Ans: 5

24. Find the value of the 678 to the base-7.

Ans: 1656

25. Number of faces, vertices and edges of a cube

Ans: 6 8 12

26. Complete the series 2, 7, 24, 77,

Ans: 238

27. Find the value of @@+25-++@]16, where @ denotes "square" and + denotes "square
root".

Ans: 621

28. Find the result of the following expression if, M denotes modulus operation, R
denotes round-off, T denotes truncation: M(373,5)+R(3.4)+T(7.7)+R(5.8)

Ans:19

29. If TAFJHH is coded as RBEKGI then RBDJK can be coded as?

Ans: gcckj

30. G(0)=-1, G(1)=1, G(N)=G(N-1) - G(N-2), G(5)="?
Ans: -2

31. What is the max possible 3 digit prime number?
Ans: 997

32. A power unit is there by the bank of the river of 750 meters width. A cable is made
from power unit to power plant opposite to that of the river and 1500mts away from the
power unit. The cost of the cable below water is Rs.15/- per meter and cost of cable on
the bank is Rs.12/-per meter. Find the total of laying the cable.

Ans : 1000 (24725-cost)

33. The size of a program is N. And the memory occupied by the program is given by M
= square root of 100N. If the size of the program is increased by 1% then how much
memory now occupied?

Ans:0.5%(SQRT 101N)

34. In Madras , temperature at noon varies according to -t*2/2 + 8t + 3, where t is elapsed
time. Find how much temperature more or less in 4pm to 9pm.

Ans: At 9pm 7.5 more

35. The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A
programmer sends a program to receiver. There it waits for 10 milliseconds. And
response will be back to programmer in 20 milliseconds. How much time the program
takes to get a response back to the programmer, after it is sent?

Ans: 30

36. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in
24 days. Woman can do it in 16 days and in how many days child can do the same work?
Ans: 16

37. Which of the following are orthogonal pairs?

a. 3i+2j b. i+j c. 2i-3j d. -7i+j

Ans: a, ¢

38. If VXUPLVH is written as SURMISE, what is SHDVD?

Ans: PEASE
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39. If A, B and C are the mechanisms used separately to reduce the wastage of fuel by
30%, 20% and 10%.What will be the fuel economy if they were used combined.

Ans: 20%

40. What is the power of 2? a. 2068 b.2048 ¢.2668

41. Complete the series. 3, 8, --, 24, --, 48, 63.

Ans: 15.35

42. Complete the series. 4, -5, 11, -14, 22, --

Ans: -27

43. A, B and C are 8 bit no's. They are as follows:

A->11011011

B>01111010

C>01101101

Find ((A-B) u C)=? Hint: 109.... A-Bis {A} - {A n B}

44. A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach
the destination, which is in northwest direction. Given the latitude and longitude of
source and destination. Find the local time of destination when the flight reaches there?
Ans: 7 am

45. A can copy 50 papers in 10 hours while both A & B can copy 70 papers in 10 hours.
Then for how many hours required for B to copy 26 papers?

Ans: 13

46. A is twice efficient than B. A and B can both work together to complete a work in 7
days. Then find in how many days, A alone can complete the work?

Ans: 10.5

47. A finish the work in 10 days. B is 60% efficient than A. So how many days do B
takes to finish the work?

Ans :100/6

48. A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days
then how many days should B work to complete A's work?

Ans: 3.2 days

49. Given the length of the 3 sides of a triangle. Find the one that is impossible? (HINT:
sum of smaller 2 sides is greater than the other one, which is larger)

50. Find the singularity matrix from a given set of matrices? (Hint det(A)==0))

51. (Momentum*Velocity)/(Acceleration * distance). Find units.

Ans: mass

52. The number 362 in decimal system is given by (1362) x in the X System of numbers
find the value of X a} 5b)6¢)7d)8¢)9

53. Given $ means Tripling and % means change of sign then find the value of $%%$6-
%3$%6

54. My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place
with coordinates 36N70W. What is the local time when my plane landed?

6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00

(Hint: Every 1 deg longitude is equal to 4 minutes. If west to east add time else subtract
time)

55.78911137719
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CRITICAL REASONING:

Entirely from Barron’s 12th edition 5 Model Test Papers at the end. Those who don’t
have barrons, you can obtain it from the Internet and get the book in a pdf format. The
questions asked are from these...

Model test 1: Section5 - qns 1-4 (motorist), qns 13-16 (red and brown)

Section6 - qns 1-4 ( conservative, democratic), qns 8-11 ( latin, sanskrit ), qns 12-18
(joe,larry,ned), qns 19-22 (a causes b)

Model test 2: Sectionl - qns 19-22 (wallachia and rumelia) ---

Section6 - qns 8-12 (ashland , liverpool), qns 13-16 (spelunker) ---

qns 17-22 (pesth) ---1 got this one too

Model test 3: Section6 - qns 1-4 (all Gs are Hs)

Model test 4: Section5 - qns 8-11 (horizontal row), qns 19-22 (a,b,c cause d)
Section6 - gns 8-12 (spanish, italian), qns 13-16 (all As, Bs), qns 17-22 (progressive
federal party)

Model test 5: Section3 - qns8-11 (museum), qns 19-22 (A is the father)

Section7- gns 1-5 (prahtu, brahtu), qns 21-25 (scurvy)

TECHNICAL & HR INTERVIEW:

I had both the interviews in one go

being from CS .

me and many of my friends were asked programming like:

*sortings:buble sort , insertion sort , binary search , stack , queue ,linked list
prime numbers ,max min ,gcd ,lcm

they even asked about automata theory :

what is a turing machinenon deterministic autometon??

RDBMS:

Have a clear view of all the normalization

1 was asked to prepare a silicon DATABASE.
what is rdbms???

MPMC:

PIN diagrams of 8085 mainly.

diff between 8086 and 808577

diff between ¢ and c++7??

there were some panels were physics ,chemistry ,mechanics were even asked .the fundas
only newtons laws boyle's law ,charles law plz have an over all idea .

if u are ANSWERING anything say with 200% confidence .u voice should reflect your
certainty.

HR:
Tell me about your self which u have not written in your CV?

Told...
If any beautiful girl from Bit mesra love U very much and U don't know her, what will u
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do? , will propose her?

Told ......Yes

WHY Tcs??

Told

What is Ur weakness ?

Told..

Ask any question from us...?
Asked

ALL THE BEST ....cccooieenee

TCS PAPER ON 17th JULY 2008

Hi friends........ I m Niraj Kumar Ranjan from SCSVMYV University,Kancheepuram. TCS
came oncampus in my college on 17th & 18th july 2008.0n 17 it coducted online test in
which 13 students cleared the test out of 175.0n 18 it conducted HR and MR interview.
At 4'0 Clock evening final result came and my name was shortlisted among with other 5
students..........c........

TEST PHASES:

ONLINE TEST

TECHNICAL ROUND(HR ROUND)
MR ROUND

ONLINE TEST:
Verbal Section.

Quantitative Aptitude.

Critical Reasoning.

Verbal Section(32 questions in 20 min):
10 Synonyms

10 Antonyms

6 Sentence Completion

6 RC

For Synonyms practice all Word List exercises of GRE BARRON-12th Edition with
heading Synonyms.No need to mugup the meaning of all words.You just keep the true
option of respective word in mind because the words wih options are just copied in
question paper.So if you have previously seen a particular word then u can resemble it in
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exam and can choose correct option.

For Antonyms practice all Word List excercises and Model Test Paper(given back side of
GRE Barron-12th Edition) of GRE Barron-12th .If you practice only Model Test Paper’s
Antonyms then you can answer 6 ques out of 10 during test.

NOTE: you skip words with heading “Synonyms and Antonyms” given in Word List
excercises. Sentence Completion are also from GRE Barron but it in the form of a
paragraph with combination of 5 or 6 sentences. If u have time, practice it otherwise skip
it.

RC is from GRE Barron-12th .Practice all Model Test Paper’s RC if you have time.

Quantitative Aptitude(38 ques in 40 min):

Note: For this section there is no need to solve any book you just solve as many questions
of previous years as possible.All ques are either repeated or data is changed. Therefore
you must know the methods to solve those questions,it will help you if you forget the
mugup answer or if data is changed.

Here I m posting some questions which were asked to me
G(0)=-1, G(1)=1, G(N)=G(N-1) - G(N-2), G(5)="?

Which of the following are orthogonal pairs?
a. 3i+2j b. itj c. 2i-3j d. -7itj

Find the singularity matrix from a given set of matrices? (Hint det(A)==0)) In a two-
dimensional array, X(9,7), with each element occupying 8 bytes of memory, with the
address of the first element X(1,1) is 3000, find the address of X(8,5)?

A file is transferred from one location to another in 'buckets'. The size of the bucket is 10
kilobytes. Each bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The
transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt
of the bucket the receiver sends an acknowledgement that reaches sender in 100
milliseconds. Assuming no error during transmission, write a formula to calculate the
time taken in seconds to successfully complete the transfer of a file of size N kilobytes.

If n=10*18*38 which of the following is not an integer? a. n/40 b. n/90 c. n/72 d. n/35

My flight takes of at 2 am from a place at 18N 40E and landed 10 HRS later at a place
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with co-ordinates 36N 40W.WHAT IS THE LOCAL TIME WHEN MY PLANE
LANDED.

a) 2.50 pm,b)6.00 pm, c) 6.40 pm,d)8.00 pm Two pencils costs 8 cents, then 5 pencils
cost how much.

A car is filled with four and half gallons of oil for full round trip. Fuel is taken 1/4 gallon
more in going than coming. What is the fuel consumed in coming up?

In a mixture, R is 2 parts S is 1 part. In order to make S to 25% of the mixture, how much
ris to be added?

In the word ORGANISATIONAL, if the first and second, third and forth, forth and fifth,
fifth and sixth words are interchanged up to the last letter, what would be the tenth letter
from right?

Select the odd one out.....a. Java b. Lisp ¢. Smalltalk d. Eiffel.

Select the odd one out a. WAP b. HTTP ¢c. BAAN d. ARP.

Select the odd one out a. SQL b. DB2 ¢. SYBASE d. HTTP.

The size of a program is N. And the memory occupied by the program is given by M =
square root of 100N. If the size of the program is increased by 1% then how much
memory now occupied?

Find the result of the following expression if, M denotes modulus operation, R denotes
round-off, T denotes truncation: M(373,5)+R(3.4)+T(7.7)+R(5.8).

In Madras , temperature at noon varies according to -t"2/2 + 8t + 3, where t is elapsed
time. Find how much temperature more or less in 6pm to 9pm.

A, B and C are 8 bit no's. They are as follows:
A->11011011
B>01111010
C->01101101
Find ((A-B) u C)=?
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(Energy*Mass)/(Acceleration * distance). Find units.

@@+25-++@]16, where (@ denotes ’square” & + denotes “square root”.

A is twice efficient than B. A and B can both work together to complete a work in 7days.
Then find in how many days A alone can complete the work?

What curve best suits the following data:

XY

0.99 0.00001

10.04 1.02

99.98 1.997

1000 3.0

9990 4.004

(@)y=lognx (b)y=loglOx(c)y=ex(d)y=-loglOx (e)y=-ex

Three independent mechanisms A, B and C have been incorporated for power saving in a
plant producing respectively 30%, 40% and 10% efficiency. Assuming that they operate
independently, what is the net power efficiency achieved.

(a) 62.2% (b) 68% (c) 61% (d) 64% (e) 56%

One year ago Pandit was three times his sister's age. He will be only twice her age next
year. How old will Pandit be after five years?
a)8b)12¢c)11d) 13

One ques on coding and decoding(I forget it out).

In the given string how many Y’s are followed by L that are not followed by P
YLYPOMYLPMLYLLYQMYYLQYLPLYAMLYLM Sol. Only count pairs of YL and
discard pairs of YLP.

Which set of data exhibits a higher Standard Deviation?
(®70,-7,70-701)7,7,7,0,7,7(¢)-7,-7,-7,-7,-7,-7(d)7,7,7,7,7,7(e) 7,-7, 7,
-7,17,-7

A power cable is run by the bank of the river of 900 meters width. A cable is made from
power unit to power a plant opposite to that of the river and 3000mts away from the
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power unit. The cost of the cable below water is Rs. 5/- per meter and cost of cable on the
bank is Rs.4/- per meter. Find the point downstream where the cable is to cut across the
river.

Three ques on data interpretation (u can prepare it from R.S Aggarwal or GRE itself).

Three ques from Venn diagram (u can prepare it from R.S Aggarwal or GRE itself).

One ques was from series completion (I forget it out).

Critical Reasoning (3 problems each with 4 ques (total 12 ques) in 30 mins):

For this section you just practice all Model Test Paper’s reasoning problems(practice only
those problems which include 4 or more than 4 ques). All problems are just copied and
paste.Sometime they change names but situation of problems are same.

Following are problems asked to me:-

GRE Barron 12th Edition -> MODEL TEST 2 -> Section 1 ->questions(19-22).

GRE Barron 12th Edition -> MODEL TEST 2 -> Section 6 ->questions(17-22).(the
names were changed for this problem).

GRE Barron 12th Edition -> MODEL TEST 5 -> Section 3 ->questions(12-18).

TECHNICAL ROUND (HR ROUND): (only one interviewr)

(I opened the door and asked permission to get inside.l wished good afternoon after
reaching near to him.He was engage with some papers so he told me to sit on side chair
and wait for a while.l waited for 5 mins while sitting gently.After 5 mins he told me sit
on the chair infront of him.)

Sir: Mr. Niraj no need to get tense and nervous,we will talk like friend............

Me: ok sir.

Sir: do u feel hungary.

Me: little bit sir but its not important than my interview.

Sir: Inspite of feeling hungary u are smiling.good.ok Niraj tell me about ur schooling and
family.

Sir: Niraj you have two years academic gap afer +2.why it is so?
Me: (I already thought answer of this question.). Sir it is due to economical problem.My
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father is a low earning person.He has to manage a family of six members.When I passed
+2,at that time my eldest brother was doing MBA and my elder brother was doing
B.tec.So he could not afford me for B.E at that time.

Sir: what u did for 2 years?

Me: sir [ was doing B.sc

Sir: Have u completed your B.sc?

Me: no sir.

Sir: why?

Me: sir I already decided to do B.E but I did’t want to waste the time so for a time being |
had taken admission in B.sc. After two years both of my brothers got job and hence I
taken admission in B.E.

Sir: What was your hons. Paper?

Me: sir it was Maths.

Sir: Which is your favourite subject?

Me: sir C++,Data Structure and java( I have written these subjects as Area of Interest in
my Resume).

Sir: what are features of oops?

Me: told but I forget two features.

Sir: any thing else

Me: I remembered and told those two also.

Sir: Is pointer there in C++?

Me: Yes sir (for checking confidence he asked this ques three times but my answer was
same for all times).

Sir: Can u write a programe in C++ by using pointer

Me: Yes sir. (Then he gave me to display sum of series [1"2 +272 + 32+ ....... +
1072].1 thought for 30 sec on this problem then I was just starting but he interrupted me
that if u are not comfortable with pointer you can write it without pointer). I wrote the
programe without pointer.

Sir: Can you explain it?

Me: Yes sir. ( I explained very well.)

Sir: you did Sanskrit project by “java coding” .what is it?

Me: Sir actually in our college we have to study a subject “Sanskrit and Indian
Culture”.In 6th sem we had to do a project related to this subject.So to brush up my
knowledge of java I did it by using “java coding”.

Sir: Can u explain what u did in project?

Me: Yes sir. (I explained it for 15 mins).

Note: In my project I used a GUI component “Combo Box” but during explanation i was
telling it “Check Box”.So he interrupted me and drawn two figures-one for Check Box
and other for Combo Box and told me to identify them.Now I felt mistake and oppolizes
to him.He told “ok no problem proceed”.

Sir: why u haven’t used “Visual Basic” for GUI.
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Me: sir I doesn’t comfortable with Visual Basic coding.

Sir: Have you used any Data Base in this project?

Me: No sir.

Sir: Can you write programe for “Binary Search”? (I have written Data Structure as area
of interest).

Me: Ofcourse sir. (I thought for a while and started to write.During writing he was asking
following questions.Actually he was looking for efficiency of me during work load.)

Sir: How u compare your college with other colleges?

Me: [ told...... then engaged in writing programe. (During my reply he was busy with his
Mobile.Actually he was checking my patient.)

Sir: Whether there is need for any improvement of ur college? What are they?

Me: [ told....... then engaged in writing programe. (During my reply he was busy with his
Mobile.)

Sir: Where do you stay? In hostle or outside the hostle.

Me: sir outside the hostle........ then engaged in writing programe. (During my reply he
was busy with his Mobile.)

Sir: Do you cook yourself?

Me: Yes sir.......... then engaged in writing programe. (During my reply he was busy
with his Mobile.)

Sir: What you cook for a day?

Me: I told......... engaged in writing programe. (During my reply he was busy with his
Mobile.)

Sir: Do u know to cook Chapati?

Me: yes sir very well......... then engaged in writing programe. (Now he stoped to ask
questions and busy with his Mobile.After few mins I completed programe writing and
show it to him.)

Sir: Can you explain it?

Me: ofcourse sir.(I explained very well but I did a minor mistake during writing of
programe.This was notified by him. I oppolizes for that).

Sir: what are other Concepts in Data Structure?

Me: sir array,stack, queue, linked list, sorting and tree.

Sir: Any quaries?

Me: sir whether I need to learn any computer language or technology before joining TCS?
Sir: he explained and then said u can go now.

Me: Thank you sir.

MR ROUND: (3 interviewers)

( I opened the door and asked permission to enter inside.Intially there were two members
in pannel but in the mid of my interview one lady joined the pannel.l wished good
afternoon to all of them.Then they told me to have the seat).

Sir: I think u feel very hungary.have u taken breakfast or not?
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Me: (with smile on face) no sir [ have not taken breakfast.sir little bit I feel hungary but I
am more eager to know final result than lunch.

Sir: which pgm u was given to write? (Actually the paper on which I had written
programe in technical round was passed to MR ROUND).

Me: I told....
Sir: which is your favourite subject?
Me: same answer...... (lady member entered and joined the pannel.l stood up and wished

her good afternoon.She told ok ok sit sit sit)

Sir: I think you have academic break down.(he engaged in seeing my certificates
carefully)

Me: yes sir | have two years academic break down between +2 and B.E.

Sir: why?

Me: Given same reason.

Sir: what you was doing for 2 years?

Me: Doing B.sc.

Mam: Do u have Certificate for B.sc?

Me: No mam I don’t have Certificate because it is incomplete degree but I have the
marksheets of two years.

Mam: are you sure you have the marksheets?

Me: Mam not now because it was a incomplete coarse so I haven’t included in my
file.But I have it at room.

Mam: Why u did not completed B.sc coarse?

Me: Mam actually I was not interested in B.sc.From the beginning itself I decided to do
B.E. I didn’t want to waste time that’s why I had taken admission in B.sc.

Mam: I think you did mini project in java.Can you explain what u did in this project?
Me: yes mam.(I explained the project very well.here I didn’t repeat the mistake which I
did during technical round)

Sir: What is try,catch and finally?

Me: Explained all three.

Sir: You are given two numbers a=5 and b=8.Can you swap two numbers without using
temperory veriable?

Me: Thought for sometime but unable to answer.(ANS: a=a+b;b=a-b;a=a-b)

Sir: Give logic for the programe [1-2+3-4+5-6+................ -8+9].

Me: Thought for some times and find out the answer.

Sum=0;

For (1=1;1<=9;1++)

{

Sum=Sum-+i*pow(-1,i-1);

}

Printf(“Sum=%d”,Sum);

Sir: very good.your logic is correct but I want some simple logic.

Me: Again tried for some time for did not got other logic.I simply told sorry sir I m not
getting.(the other logic is add odd terms together and even terms together and finally
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subtract sum of even terms from sum of odd terms.)

Sir: Are u comfortable to work in any part of world?

Me: Of course Sir.you can throw me at any corner of world,I will adjust myself. (mam
laughed at this reply.)

Mam: Do you know about 2 years bond of TCS.

Me: No mam.

Mam: You would have to pay Rs 50,000 if u leave the company within 2 years.

Me: ok mam but this situation will not come.

Sir: Any queries?

Me: I asked the same quary.

All the Best
Paper Type : General - Interview
TCS PAPER

PRAYER WORKS, PRAYER ONLY WORKS
SPECIALLY FOR DIPLOMA STUDENTS

Hello friends,this is harshit elaborating tcTCS placement experience with detailed
Technical & hr interview .I am an E.C.E. student, have done my diploma in same branch.

APTITUDE TEST

ENGLISH (20 MINS.)
QUANT/MATHS

CRITICAL REASONING(30MINS.)

U CANNOT SWITCH between SECTIONS .sections change after defined time. Same
PATTERN as previous papers BUT NUMBERS changed.

If possible remember answers of sums it REALLY HELPS SAVES TIME ,helps us to
think for other non seen questions.it was ONLINE TEST ,questions are DIFFERENT for
EACH STUDENT.NO NEGATIVE MARKING.

THERE IS NO SECTIONAL CUT OFF. CUT OFF WAS 50,1 secured 55.5,1 saw marks
in hr interview. NO PSCHOMETRY TEST

TECHNICAL INTERVIEW

(IT’S BETTER TO ACCEPT IGNORANCE RATHER THAN TO BLUFF,EYE
CONTACTS IMPORTANT ,CONFIDENCE MUST,BE COOL & CALM,ASSURE
THEM U R READY TO WORK HARD AS THEY WANT ) IN THE COLUMN OF
PROGRAMMING LANGUAGES KNOWN,I HAD LEFT IT BLANK.

WHEN I ENTERED ROOM HE ASKED ME TO WAIT OUTSIDE FOR 10 MINS.,may
be this was to check my patience. After 10 mins.,TCS coordinator called me. It was 9-00
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pm I took with me my biodata file consiting of Xerox’s of ssc,diploma3rd 4th 5th sem
results.and PROJECT REPORT.no one of us carried either.

THREE MAIN POINTS TO BE REPEATED IN BETWEEN ANY
INTERVIEW(HR/TECHNICAL)

I CAN HANDLE PROJECTS EFFICIENTLY.

I CAN WORK AS A GOOD TEAM LEADER.

I CAN ALSO WORK WELL AS GOOD TEAM MEMBER.

ME: Good evening sir with smile,sir may I have seat (he did’nt offer me before)
SIR: Please have a seat

ME:Thank you sir
SIR:How was ur aapti?

ME: Ok sir ,not that good,it was good that I cleared.
SIR:Ya it was like that only.

SIR:Where do u stay
ME:Sir I stay at ghatkopar,vallabhbaug lane [extn.]

SIR:Near Odeon
ME:Yes sir ,very close to it.

He then asked me the duration of doing diloma+degree & 12th+degree,a no.of basic
questions on the diploma & 12th their advantages & disadvantages.

ME:Sir,we have an added advantage of learning basics properly since we had 3 year
time,a more practical oriented approach,we are made junior engineers,in degee, time is
less for referring reference text books.

SIR:Any disadvantage
ME:Sir,everything in the world has advantages & disadvantages,pros & cons.,here also
are a few.we lag in maths,but than can be developed in due course by practice.

SIR:What are MACROS in excel
ME:SIR I DON’T KNOW.

SIR:In biodata u have written proficiency in ms excel so I was were eager to ask this.
ME:Sir,I know basics of word ,excel ,powerpoint

SIR:Explain ur final year project.
ME:I explained project for 5-7 mins,making it most interesting everytime.

SIR:Are ur BASICS of E.X.T.C.cleared
ME: I SPONTAENOUSLY replied YES SIR
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SIR:Do u know anything about dual core

ME:Yes sir,it latest technology coming up,here there is only 1 PCB and components are
mounted on both sided bcoz of whitch size,weight,power consumption reduces and speed
increases

SIR:See one core means one cpu ,so have many cpu’s are there in dualcore

ME:Sir I m not sure,but I think there will b two cpu’s since speed increases,one main
carrying out main program execution & one coprocessor carrying out functions that are
repeated.

SIR:What do u have that will b ueful to TCS

ME:Sir u r getting a guy that is hardworking has right approach and positive attitude has
creative and innovative ideas,detemined to take organization reach its predetermined
objectives/aims before the deadlines.

SIR:Ok,ok that’s fine these are principles,to enter into I.T. industry what is the core thing
required,.for example to become himesh reshammiya what should I have.
ME Good voice quality

SIR:Exactly,so what do have the core for IT industry
ME:Sir,I know assembly language programming of 8085,8051.and in the due course I
will learn the basic languages.

SIR:When

ME: Sir,we have a year and also training period,with whitch we will b acquainted to
these languages of ¢ &c++ .sir ,these languages will be developed in due course we have
an added advantage from rest comps/IT student that we know
electronics,telecommunication also, the blend of both will help to excel in future.so, will
be able to use our hardware & software skills simultaneously.

SIR:Do u know whitch languages are used presently
ME:Advanced languages java ,oracle etc.

SIR:Pentium................. brand name or company.
ME:Sir,it’s company that has been branded.

SIR:Cadbury............. eclairs
ME:Sir ,Cadbury is company & éclairs is brand name.

SIR(with smile):Here it is easy to identify.
ME:Ya sir.

SIR:What do u know abt T.C.S.
ME:Sir,T.C.S.....big name,the no.one [.T. company in asia,was started in 1968 did the
work related to punchcards in tisco.then it felt to provide services to it’s clients & then
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started the whole business.it has it’s customers in various fields such as medicine telecom
banking etc.(for students this information was collected from website www.TCS.com)

SIR:Good,fine.

SIR: Do u want ask anything
ME:sir what will I have to do to be on par with rest comps/I.T. students

SIR:U learn basic languages c/c++ whitch is foundation for all advance languages
ME:Yes sir I will learn these languages before joining TCS.thank u sir (with a smile)

H. R INTERVIEW:
(BE AS HONEST AS U CAN THEY SCAN U PROPERLY,BE URSELF
THERE,DON’T LIE)

SIR:Please have a seat
ME:Thank u sir

SIR:What do students say abt me outside
ME That sir asks questions mainly on hobbies,interests .

SIR:Do students express grudge against me?
ME:Not at all sir ,they say sir is quite soothing and very cool.

SIR:0.k.,now they will express aggression.
Me:(I smiled)

SIR:What are ur strengths
ME:sir,I m very passionate for work,hardworking,have right approach,positive
attitude,have creative & innovative ideas,good team member as well as good leader.

SIR:Every one is passionate for work
ME:sir,I believe in delivering best to a given assigned task,I start working on the assigned
task as soon as it is given & try to make it possible within the given deadlines

SIR:Give me one example to prove that u r a good leader

ME:I was leader of final year diploma project,whitch won the first prize in vivek
technotronics,grand event of our college.there were a few disputes within team member
for doing a particular task ,whitch I tried to sort it out by motivating them to do the work
by showing them the future projected dreams,finally they gave their best efforts to fulfil
the dreams.

SIR:u are good at managing people and tem work

SIR:what are ur hobbies
ME:sir I like to play cricket whenever I get time,like to read shyaris,quotations
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SIR:tell me few shyaris
ME:(I told 4 shyaris,he was keenly listening to it and with smile replied) good very good

U may leave and then I showed my project report and biodata file.he saw my project
report and said u have done quite exhaustive work,keep it up)

After both interviews I felt that I was through and was very happy.

H.R.played a prank in first declaring 125 names who were shortlisted in whitch my name
wasn’t there then she said more 10 students r there also in whitch | WAS LAST IN THE
LIST

WHAT A SIGH OF RELIEF THAT WAS TO HEAR THE NAME

ITS ONLY GOD’S GRACE ,THAT REALLY MAKES THINKS POSSIBLE.IF AN
AVERAGE STUDENT LIKE ME CAN BE PLACED WHY NOT U,SIMPLY PRAY,
HE GUIDES U TO WIN

I PRAY FOR THE PLACEMENT OF ALL THE STUDENTS APPLYING

TCS PAPER AS ON 10th JUNE 2008

Hi everybody,
TCS team visited our college campus on 31st may2008 .I am very happy to share my
experience with u bcoz i was benifited more from this website.

TCS pattren consists of four rounds .All are seperate.

Written Test:

It was very easy exam u ever seen before.I think it was the easiest of all... It was online
test of 1 1/2hr duration. it consists of

verbal:

10 synonyms
10 Antonyms
2 paragraphs

Synonyms and antonyms are luck dependent.U may answer easyly upto 3-4 synonyms
and 3-4 antonyms. Dont waste time by readindg synonyms and antonyms from GRE
Barrons book. If u study 1000 words,u may or may not get 2-3 also.

I haven't studied single word from Barrons but easily answered 4-5 synonyms and 4
antonyms. so,answer them quickly whether u know or not.Then move to paragraphs
section.
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Ist paragraph consists of fill in the blanks type means that a paragraph is given with
blanks in between. I got a paragraph with 7 blanks and 10 choices.U need to choose
among them.It was very easy.

2nd paragraph is general type.5 questions are given and for each question 4 options are
given.

U can easily answer them. The key point when u r answering passages is that dont try to
study all the paragraph.

The passages are too lengthy like 3-4 pages.See the question and search for the answer in
the paragraph.

For fill in the blanks paragraph,read the 2 lines bfore the blank and answer them easily.
Quantitative:
It is the easiest of all questions.Dont try to solve questions in R.S.Aggarwal. Take the

previous TCS papers conducted in last 4-5 months and solve them only.

If u solve R.S.Aggarwal,then also take a look at prevoius papers.Dont try to go to exam
directly.

If u see previous papers ,then only u can solve them in time. U will get same questions
with out changing even the numerals also.

It consists of 38 questions and u have to answer them in 40 min. 32 questions are general
aptitude.

3 questions from data interpretation means a bar graph is given and u have to answer the
questions based on it.

3 questions from venn diagrams.

they are all very easy.

Critical Reasoning:

This is the most important of all.3 reasoning passages are given consists of 4 questions
each. My sincere advice is to solve all critical reasoning passages from GRE Barrons

12th edition model papers. dont miss even single also.Only the names are changed.

In most passages,even the names also are not changed. if u have no time,then byheart
even the options also like CBDA etc...

U have to answer at least one of the 3 passages.

It was happend to me on 31-may-2008.The result was displayed on the screen when u
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complete the test.

Be prepare well for all the sections. There is no upper cutoff.

Technical Interview:

It was very cool interview.But i feel so much tense at that moment.First when went to the
panel ,he asked me about subjects i know.While i am saying that c,c++,java... he
interrupted me and said that they are all under one section.

So,prepare all subjects at a glance if u r from CSE and IT streams like operating
systems,micro processors,computer organisation,DBMS,Data structures,Software
Engineering other than above three.

U have to be perfect in atleast one or two of the subjects.Don’t try to bluff,be frank .False
answers doesn’t matters.If u don’t know then u should accept it like saying that i was
unable to recollect it sir etc....

He should know that u have the grip on the subject.

I said that DBMS is my favourite subject and he asked me some easy questions in it.I am
giving some of the questions faced in the interview.

1.Disadvantage of inheritance.

2.Differance between drop,delete,truncate commands.
3.Differant types of Joins of tables and explain them.
4.Differance between DBMS and RDBMS.
5.Differant types of storage classes in C.

6.What the rollback and commit commands will do.
7.What is commit point and log table etc.

8.Differant forms of “Is” command in UNIX.

9.What is SDLC(software development lifecycle).
10.What is garbage collection and how it is performed in JAVA
11.Exception handling in C++,JAVA.

12.What r the topics u know in Computer Organisation.and some other easy
questions....these r the main questions asked for me.
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So,try to cover all the core CSE subjects one time.

I answered some of the questions and for some questions ,i frankly said that i am not able
to recollect and 1 don’t know. I thought that 1 wont clear the Technical round.But 1 was
promoted to the next round.

Its all happend on 2-june-2008.When i went to interview at morning 9’0 clock and came
out at night 9’0 clock but interview happend only for 20-30 minutes.

Management round:

It was the surprising round for me in all the rounds of TCS. There are 2 panels for MR
round.One of them is selecting all the members he got for the interview and the other is
selecting only2-3 people out of 10. I was unfortunately gone for that panel.So i was
decided that 1’1l be clearly eliminated in this round.He asked about
Eng.Drawing,Conputer graphics and some puzzles etc for the people who gone before me.

But my interview was done very cool.He haven’t asked me questions in above said
subjects but he asked me about the movies,hobbies etc .I was done this successfully.My
interview is as follows.

I came to college at 9a.m but when I went to MR it was around 8.30 to 8.45p.m

First he asked me to tell about myself.When i came to hobbies,i said that listening to
music is my hobby.

HE: Which type of music will u listen.

ME: There is no specific type of music sir but 1 enjoy any type of music.

HE: Ok.Do u see movies?

ME: No ,sir.

HE: Why don’t u see movies they r also for the entertainment na?

ME: When i want to get some relaxation 1 will listen to music sir.I also see some movies
which are different and message oriented.

HE: Then,what is ur last movie?

Then i said the name of an old movie then I explained the message in that movie.He told
me that to watch one new movie and he said that there is a message in that.

After that he asked me about my village and how much distance it is and so on...it was
done very cool.

After this round, I got some confidence that I can easily crack HR round.

*The key point in this round is that u have to stick on to one side only not like two sides
of a coin.
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*Be confident when u r telling the answer.U have to be in a posion to justify ur answers.

*Try to tell the truths only.Dont try to bluff.If u tell false,u have to be in a position to
answer the consequent questions.

It took 30-45min to complete this round.

HR ROUND:

It was done for about 10min only.He asked only simple questions.Some of those are as
follows.

1.Tell about ur self.

2.What do u know about TCS?

3.Why should 1 hire u?

4.Will u goto pakistan when the company wants u to go there.

5.Will u read any magazines or books related to personality development?

6.Have u done any mini projects or presented a paper? and some easy questions
only.Give the answers frankly and spontaneously.Dont get tension.

ALL THE BEST

TATA CONSULTANCY SERVICES
Experience Certainty
Test Date : 24 May 2008

Test Location : LBRCE,mylavaram
TCS Recruitment Rounds

@ Written Test

@ Technical Interview

@ MR ( Managerial)

O HR Interview

WRITTEN TEST :( ONLINE TEST)

Contains 3 sections

1) Verbal (Synonyms — Antonyms - Comprehension Passages)

2) Quantitative Aptitude
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3) Critical Reasoning

SECTION-1(Verbal- 30 questions - 20 min)

@ Synonyms (Refer In GRE BARRONS 12th Edition )
@ Antonyms (Refer In GRE BARRONS 12th Edition (page no -126))

(@ Passage completion

Some of the previous questions in quant .Go through these models and try to solve them.
They will give same models but they change the data.

SECTION: 2(QUANT- 38 questions - 40 min )

1) If log 0.317=0.3332 and log 0.318=0.3364 then find log 0.319 =
Sol: Given log 0.317=0.3332 and log 0.318=0.3364

Then

Log 0.319=10g0.318+ (log0.318-10g0.317)

=0.3396

2) A box of 150 packets consists of 1kg packets and 2kg packets. Total weight of box is
264kg. How many 2kg packets are there?

Sol: Given x=2 kg Packs

y=1 kg packs
=x+y=150......... Eqgn 1
=>2x+y=2064........ Eqn 2

On solving these two equations
x=114
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By using equation 1
114 +y =150

=y =236

=>Number of 2 kg Packs = 114.

3) My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place
with coordinates 36N70W. What is the local time when my plane landed?

a) 6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00

Sol: (Hint: Every 1 deg longitude is equal to 4 minutes. If west to east add time else
subtract time)

Ans: 8:00

4) A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach
the destination, which is in northwest direction. Given the latitude and longitude of
source and destination. Find the local time of destination when the flight reaches there?

Ans: 7 AM (or) 1 PM

5) A moves 3 kms east from his starting point. He then travels 5 kms north. From that
point he moves 8 kms to the east. How far is A from his starting point?

Ans: 13 kms

6) Aeroplane is flying at a particular angle and latitude, after some time latitude is given.
(8 hrs later), u r asked to find the local time of the place.

7) An Aeroplane starts from A (SOME LATITUDE IS GIVEN ACCORDING TO
PLACE).At 2 AM local time to B (SOME LATITUDE). Traveling time is 10 Hours.
What is the local time of B when it reaches B?

8) A plane moves from 9°N40°E to 9°N40°W. If the plane starts at 10 am and takes 8
hours to reach the destination, find the local arrival time.

Sol: Since it is moving from east to west longitude we need to add both
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Ie, 40+40=80

Multiply the ans by 4

=>80*4=320min

Convert this min to hours i.e., Shrs 33min

It takes 8hrs totally. So 8-5hr 30 min=2hr 30min
So the ans is 10am+2hr 30 min

Ans: 12:30 it will reach

9) The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A
programmer sends a program to receiver. There it waits for 10 milliseconds. And
response will be back to programmer in 20 milliseconds. How much time the program
takes to get a response back to the programmer, after it is sent?

Sol: The time being taken to fill the bucket.

After reaching program it waits there for 10ms and back to the programmer in
20 ms. then total time to get the response is

20ms +10 ms=30ms

Ans: 30ms

10) A file is transferred from one location to another in ‘buckets’. The size of the bucket
is 10 kilobytes. Eh bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The
transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt
of the bucket the receiver sends an acknowledgement that reaches sender in 100
milliseconds. Assuming no error during transmission, write a formula to calculate the
time taken in seconds to successfully complete the transfer of a file of size N kilobytes.

Ans: (n/1000)*(n/10)*10+ (n/100).... (Not 100% sure)

11)A fisherman's day is rated as good if he catches 9 fishes ,fair if 7 fishes and bad if 5
fishes .He catches 53 fishes in a week n had all good, fair n bad days in the week. So how
many good, fair n bad days did the fisher man had in the week.

Sol:
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good days means --- 9 fishes so 53/9=4(remainder=17) if u assume 5 then there is no
chance for bad days.

fair days means ----- 7 fishes so remaining 17 --- 17/7=1(remainder=10) if u assume 2
then there is no chance for bad days.

bad days means ------- 5 fishes so remaining 10---10/5=2days.
4*9=36

7*1=7

2*5=10

36+7+10=53...

Ans: 4 good, 1 fair, 2bad. ==== total 7 days.

12) x+y+z=7--------- eql

O*x+7*y+5%7=53 ------- eq2

Sol:

Multiply eq 1 by 9,
9*x+9*y+9%7=35 ---mmmmmmee- eq3
From eq2 and eq3
2*y+4*7=10-----eq4

Since all x, y and z are integer i should put a integer value of y such that z sud be integer
in eq 4.....And there will be two value y=1 or 3 then z=2 or 1 from eq 4

For first y=1,z=2 then from eql x=4
So 9*4+1#7+2%5=53.... Satisfied

Now for second y=3 z=1 then from eql x=3
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So 9*3+3*7+1*5=53 ...... satisfied

So finally there are two solution of this question

Ans:(x,y,z)=(4,1,2) and (3,3,1)...

13) Y catches 5 times more fishes than X. If total number of fishes caught by X and Y is
42, then number of fishes caught by X?

Sol: let no. of fish x catches=p
No. caught by y =r

=5p.

Given r+p=42

Then p=7, r=35

14) Three companies are working independently and receiving the savings 20%, 30%,
40%. If the companies work combine, what will be their net savings?

Sol: Suppose total income is 100
So amount x is getting is 80

yis 70

z =60

Total=210

But total money is 300
300-210=90

So they are getting 90 rs less

90 is 30% of 300 so they r getting 30% discount
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15) The ratio of incomes of C and D is 3:4.the ratio of their expenditures is 4:5.Find the
ratio of their savings if the savings of C is one fourths of his income?

Sol: incomes: 3:4
Expenditures: 4:5
3x-4y=1/4(3x)

12x-16y=3x

9x=16y

y=9x/16

(3x-4(9x/16))/ ((4x-5(9%/16)))

Ans: 12/19

16)If A can copy 50 pages in 10 hours and A and B together can copy 70 pages in 10
hours, how much time does B takes to copy 26 pages?

Sol: A can copy 50 pages in 10 hrs.
=>A can copy 5 pages in lhr. (50/10)
Now A & B can copy 70 pages in 10hrs.

Thus, B can copy 90 pages in 10 hrs. [Eqn. is (50+x)/2=70, where x--> no. of pages B
can copy in 10 hrs.]

So, B can copy 9 pages in 1hr.
Therefore, to copy 26 pages B will need almost 3hrs.

Since in 3hrs B can copy 27 pages

17) A can copy 50 papers in 10 hours while both A & B can copy 70 papers in 10 hours.
Then for how many hours required for B to copy 26 papers?

ANS: 13
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18) A is twice efficient than B. A and B can both work together to complete a work in 7
days. Then find in how many days A alone can complete the work?

ANS: 10.5 (11)

19) A finish the work in 10 days. B is 60% efficient than A. So how days does B take to
finish the work?

Ans: 100/6 (4 days)

20) A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days
then how many days should B work to complete A's work?

Ans: 3.2 days (4 days)

21) A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in
24 days. Woman can do it in 16 days and in how many days child can do the same work?

Ans: 16

22) If 20 men take 15 days to complete a job, in how many days can 25 men finish that
work?

Ans. 12 days

23) One fast typist type some matter in 2hr and another slow typist type the same matter
in 3hr. if both do combine in how much time they will finish.

Ans: 1hr 12min

24) A man shapes 3 cardboards in 50 minutes, how many types of cardboard does he
shape in 5 hours?

Ans: 18cardboards
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25) A work is done by two people in 24 min. one of them can do this work a lonely in 40
min. how much time required to do the same work for the second person.

Sol: (A+B) can do the work in = 1/24 min.

A alone can do the same work in = 1/40 min.

B alone can do the same work in = (A+B)’s — A’s = 1/24 — 1/40 = 1/60

=> B can do the same work in = 60 min

Ans: 60 min

26) A can do a piece of work in 20 days, which B can do in 12 days. In 9 days B does %4
of the work. How many days will A take to finish the remaining work?

27) Anand finishes a work in 7 days; Bittu finishes the same job in 8 days and Chandu in
6 days. They take turns to finish the work. Anand on the first day, Bittu on the second
and Chandu on the third day and then Anand again and so on. On which day will the
work get over?

A) 3rd b) 6th ) 9th d) 7th

28) 3 men finish painting a wall in 8 days. Four boys do the same job in 7 days. In how
many days will 2 men and 2 boys working together paint two such walls of the same size?

A) 6 6/13 days
B) 3 3/13 days
C) 9 2/5 days

D) 12 12/13 days

29) what's the answer for that?

A, B and C are 8 bit no's. They are as follows:
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A->11000101

B>00110011

C->0011101 0 (- =minus, u=union)

Find (A-C)uB)=?

Sol: We have to find (A-C) U B

To find A-C, We will find 2's compliment of C and them add it with A,
That will give us (A-C)

2's compliment of C=1's compliment of C+1
=11000101+1=11000110

A-C=11000101+11000110

=10001001

Now (A-C) U B is .OR. Logic operation on (A-C) and B
10001001 .OR. 00110011

The answer is = 10111011,

Whose decimal equivalent is 187.

30) A=10010001

B=01101010

C=10010110

(AuB)nC =? [(A union B) intersection C =?]

3)A=00001111

B=00110011

C=01010101

( A U B) n C Find the fourth row, having the bit pattern as an integer in an 8-bit
computer, and express the answer in its decimal value.

Ans: 29
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32) A, B and C are 8 bit nos. They are as follows:
A11011011

B0O1111010

Co01101101

Find ( (A-B)u C)=?

Hint: 109 A-Bis {A} - {An B}

Ans:01111111(DB)

33) If A, B and C are the mechanisms used separately to reduce the wastage of fuel by
30%, 20% and 10%. What will be the fuel economy if they were used combined.

Ans: 20%

34) In the class of 40 students, 30 speak Hindi and 20 speak English. What is the lowest
possible number of students who speak both the languages?
(a) 5(b) 20 (c) 15 (d) 10 (e) 30

35) In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory,
with the address of the first element X (1, 1) is 3000, find the address of

X (8,9).

Sol: [HINT~ Formula=Base Add + Byte reqd {N (i-1) + (j-1)}
Where,

Base Add=3000;

Byte reqd=4;

N=no of columns in array=7;

i=8; j=5:
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IN ROW MAJOR ORDER]
Ans: 3212

36) If the vertex (5, 7) is placed in the memory. First vertex (1, 1)’s address is 1245 and
then address of (5, 7) is ----------

Ans: 1279

37) A 2D array is declared as A [9, 7] and each element requires 2 byte. If A [1, 1] is
stored in 3000. Find the memory of A [8, 5]?

Ans: 3106

38) One circular array is given (means the memory allocation takes place like a circular
fashion) dimension (9X7) .starting address is 3000.find the address of (2, 3)

Ans: 555

39) The size of a program is N. And the memory occupied by the program is given by M
= square root of 100N. If the size of the program is increased by 1% then how much
memory now occupied?

Sol: N is increased by 1%

Therefore new value of N=N + (N/100)

=101N/100

M=sqrt (100 * (101N/100))

Hence, we get

M=sqrt (101 * N)

Ans: 0. 5 %( =SQRT 101N)
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40) A bus started from bus stand at 8.00a m and after 30 min staying at destination, it
returned back to the bus stand. The destination is 27 miles from the bus stand. The speed
of the bus 50 percent fast speed. At what time it retur4ns to the bus stand.

Sol: (this is the step by step solution :)

A bus cover 27 mile with 18 mph in =27/18= 1 hour 30 min.

And it wait at stand =30 min.

After this speed of return increase by 50% so 50%of 18 mph=9mph

Total speed of returning=18+9=27

Then in return it take 27/27=1 hour

Then total time in journey=1+1:30+00:30 =3 hour

So it will come at 8+3 hour=11 a.m.

So Ans==11 a.m

41) A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach
the destination which is in North West direction. Given the latitude and longitude of

source and destination. Find the local time of destination when the flight reaches there?

Ans: 7 AM or 1.00 PM

42) My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place
with coordinates 36N70W. What is the local time when my plane landed?
a) 6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00

(Hint: Every 1 deg longitude is equal to 4 minutes. If west to east add time else subtract
time)

Ans: 8:00

43) A moves 3 kms east from his starting point. He then travels 5 kms north. From that
point he moves 8 kms to the east. How far is A from his starting point?

Ans: 13 kms
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44) A plane moves from 9°N40°E to 9°N40°W. If the plane starts at 10 am and takes 8
hours to reach the destination, find the local arrival time.

45) In Madras , temperature at noon varies according to -t"2/2 + 8t + 3, where t is elapsed
time. Find how much temperature more or less in 4pm to 9pm. (May be we can solve it
by Definite Integration. Check any way}

Ans: at 9 pm 7.5 more or 385.8 (DB)

46) For Temperature a function is given according to time: ((t**2)/6) + 4t +12 what is the
temperature rise or fall between 4.AM TO 9 AM

Sol: In equation first put t=9,

We will get 34.5......ccoeeiveennenne (D)
Now put t=4,
We will get 27...cvvvvveeiieiiene, 2)

So Ans=34.5-27

=7.5

47) For Temperature a function is given according to time: ((t**2)/6) + 4t +12 what is the
temperature rise or fall between 5 PM to 8 PM

48) Low temperature at the night in a city is 1/3 more than 1/2 high as higher temperature
in a day. Sum of the low tem. And highest temp is 100 degrees. Then what is the low
temp?

Sol: Let highest temp be x
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So low temp=1/3 of x of 1/2 of x plus x/2 i.e. x/6+x/2
Total temp=x+x/6+x/2=100

Therefore, x=60

Lowest temp is 40

Ans :(40 deg.)

49) A person had to multiply two numbers. Instead of multiplying by 35, he multiplied by
53and the product went up by 540. What was the raised product?

a) 780

b) 1040

c) 1590

d) 1720

Sol: x*53-x*35=540=> x=30 therefore, 53*30=1590

Ans: 1590

50) How many positive integer solutions does the equation 2x+3y = 100 have?

a) 50

b) 33

c) 16

d) 35

Sol: Given 2x+3y=100, take l.c.m of 'x' coeff and 'y’ coeff i.e. l.c.m of 2,3 ==6then divide

100 with 6 , which turns out 16 hence answer is 16short cut formula--- constant / (1.cm of
x coeff and y coefY)
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51) The total expense of a boarding house is partly fixed and partly variable with the
number of boarders. The charge is Rs.70 per head when there are 25 boarders and Rs.60
when there are 50 boarders. Find the charge per head when there are 100 boarders.
a) 65

b) 55

c) 50

d) 45

Sol: let a = fixed cost and

k = variable cost and n = number of boarders

Total cost when 25 boarders ¢ =25*70 = 1750 i.e. 1750 =a + 25k

Total cost when 50 boarders ¢ = 50*60 = 3000 i.e. 3000 = a + 50k

Solving above 2 eqns, 3000-1750 = 25k i.e. 1250 =25k i.e. k = 50

Therefore, substituting this value of k in either of above 2 eqns we get

a =500 (a=3000-50*50 = 500 or a = 1750 - 25*50 = 500)

So total cost when 100 boarders = ¢ = a + 100k = 500 + 100*50 = 5500

So cost per head = 5500/100 = 55

52) Amal bought 5 pens, 7 pencils and 4 erasers. Rajan bought 6 pens, 8 erasers and 14
pencils for an amount which was half more than what Amal had paid. What % of the total
amount paid by Amal was paid for pens?

a) 37.5%

b) 62.5%

c) 50%

d) None of these

Sol: Let, 5 pens + 7 pencils + 4 erasers = X rupees
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So 10 pens + 14 pencils + 8 erasers = 2*x rupees

Also mentioned, 6 pens + 14 pencils + 8 erasers = 1.5*x rupees

So (10-6) =4 pens = (2-1.5) x rupees

So 4 pens = 0.5x rupees => 8 pens = X rupees

So 5 pens = 5x/8 rupees = 5/8 of total (note x rupees is total amt paid by
Amal) i.e. 5/8 = 500/8% = 62.5%

Ans: 62.5%

53) I lost Rs.68 in two races. My second race loss is Rs.6 more than the first race. My
friend lost Rs.4 more than me in the second race. What is the amount lost by my friend in
the second race?

Sol: x + x+6 =15 68

2x +6 =068

2x = 68-6

2x =62

x=31

x is the amt lost in I race

x+ 6 =31+6=37 is lost in second race

Then my friend lost 37 + 4 =41 Rs

Ans: 41 Rs

54) A face of the clock is divided into three parts. First part hours total is equal to the sum
of the second and third part. What is the total of hours in the bigger part?

Sol: The clock normally has 12 hr

Three parts x, y, z
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xty+z=12

X=ytz

2x=12

x=6

So the largest part is 6 hrs

Ans: 6 hrs

55) (1- 1/6) (1-1/7).... (1- (1/ (n+4))) (1-(1/ (n+5))) = ?
Sol: Leaving the first numerator and last denominator, all the numerator and denominator
will cancelled out one another.

Ans: 5/ (nt5)

56) Ten boxes are there. Each ball weighs 100 gms. One ball is weighing 90 gms.

1) If there are 3 balls (n=3) in each box, how many times will it take to find 90 gms ball?
ii) Same question with n=10

iii) Same question with n=9

Sol: The chances are

When n=3

(1) nC1=3C1 =3 for 10 boxes.. 10*3=30

(i1)) nC1=10C1=10 for 10 boxes ....10¥10=100

(ii1) nC1=9C1=9 for 10 boxes.....10¥9=90

57) With 4/5 full tank vehicle travels 12 miles, with 1/3 full tank how much distance
travels?

Sol: 4/5 full tank= 12 mile
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1 full tank= 12/ (4/5)
1/3 full tank= 12/ (4/5)*(1/3) = 5 miles

Ans: 5 miles

58) Wind flows 160 miles in 330min.for 80 miles how much time required
160 miles?

Sol: 1 mile =330/160

80 miles= (330*80)/160=165 min.

Ans: 165 min.

59) A person was fined for exceeding the speed limit by 10mph.another person was also
fined for exceeding the same speed limit by twice the same if the second person was
traveling at a speed of 35 mph. find the speed limit

Sol :( x+10) =(x+35)/2

Solving the eqn we get x=15

Ans: 15

60) A sales person multiplied a number and get the answer is 3 instead of that number
divided by 3.what is the answer he actually has to get.

Sol: Assume 1
1*3=3

1*1/3=1/3

So he has to got 1/3

Ans: 1/3
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61) The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond.
A programmer sends a program to receiver. There it waits for 10 milliseconds. And
response will be back to programmer in 20 milliseconds. How much time the program
takes to get a response back to the programmer, after it is sent?

Ans: 30 milliseconds

62) A person who decided to go weekend trip should not exceed 8 hours driving in a day
average speed of forward journey is 40 mph due to traffic in Sundays the return journey
average speed is 30 mph. How far he can select a picnic spot.

Ans: Between 120 and 140 miles

63) Car is filled with four and half gallons of oil for full round trip. Fuel is taken 1/4
gallons more in going than coming. What is the fuel consumed in coming up.

Sol: Let fuel consumed in coming up is X.
Thus equation is: x+1.25x=4.5

Ans: 2gallons

64) 40% employees are male if 60% of supervisors are male so for 100% is 26.4%so the
probability is ..............

Ans: 0.264

65) Gavaskar average in first 50 innings was 50. After the 51st innings his average was
51 how many runs he made in the 51st innings

Sol: first 50 ings.- run= 50*50=2500

51stings. - Avg 51. So total run =51*51=2601.
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So run scored in that ings=2601-2500=101 runs.

Ans: 101 runs

66) Hansie made the following amounts in seven games of cricket in India : Rs.10, Rs.15,
Rs.21, Rs.12, Rs.18, Rs.19 and Rs.17 (all figures in crores of course).Find his average
earnings.

Ans: Rs.16 crore

67) Average of 5 numbers is -10 sum of 3 numbers is 16, what is the average of other two
numbers?

Ans: -33

68) If A, B and C are the mechanisms used separately to reduce the wastage of fuel by
30%, 20% and 10%. What will be the fuel economy if they were used combined. Ans:
20%

69) In 80 coins one coin is counterfeit what is minimum number of weighing to find out
counterfeit coin

Sol: the minimum number of weightings needed is just 5.as shown below

(1) 80->30-30
(2) 15-15
(3)7-7

(4) 3-3

(5) 1-1

Ans: 5.
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70) 2 oranges, 3 bananas and 4 apples cost Rs.15. 3 oranges, 2 bananas, and 1 apple costs
Rs 10. What is the cost of 3 oranges, 3 bananas and 3 apples?

Sol: 2x+3y+4z=15

3x+2y+z=10

Adding

S5x+5y+5z=25

x+y+z=5 that is for 1 orange, 1 banana and 1 apple requires 5Rs.
So for 3 orange, 3 bananas and 3 apples require 15Rs.

i.e. 3x+3y+3z=15

Ans: 15

71) In 8*8 chess board what is the total number of squares refers odele discovered that
there are 204 squares on the board .We found that you would add the different squares

=1+4+9+16+25+36+49 +64. =204

Also in 3*3 tic tac toe board what is the total no of squares

Ans: 14 i.e. 9+4(bigger ones) +1 (biggest one)

If you get 100*100 board just use the formula the formula for the sum of the first n
perfect squares is

nx(n+1)x(2n+1)
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72) One fast typist type some matter in 2hr and another slow typist type the same matter
in 3hr. If both do combine in how much time they will finish.

Sol: Faster one can do 1/2 of work in one hour slower one can do 1/3 of work in one hour
both they do (1/2+1/3=5/6) the work in one hour. So work will b finished in 6/5=1.2 hour

1e 1 hour 12 min.

Ans: 1 hour 12 min.

73)If Rs20/- is available to pay for typing a research report & typist A produces 42 pages
and typist B produces 28 pages. How much should typist A receive?

Sol: Find 42 % of 20 rs with respect to 70 (i.e. 28 + 42)
==> (42 * 20)/70 ==> 12 Rs

Ans: 12 Rs

74) In some game 139 members have participated every time one fellow will get bye
what is the number of matches to choose the champion to be held?

Ans: 138 matches

(Explanation: since one player gets a bye in each round, he will reach the finals of the
tournament without playing a match.

Therefore 137 matches should be played to determine the second finalist from the
remaining 138 players (excluding the 1st player)

Therefore to determine the winner 138 matches should be played.)

75) ONE RECTANGULAR PLATE WITH LENGTH S8INCHES, BREADTH 11
INCHES AND 2 INCHES THICKNESS IS THERE.WHAT IS THE LENGTH OF THE
CIRCULAR ROD WITH DIAMETER 8 INCHES AND EQUAL TO VOLUME OF
RECTANGULAR PLATE?
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Sol: Vol. of rect. plate= 8*%11*2=176

Area of rod= (22/7)*(8/2)*(8/2) = (352/7)

Vol. of rod=area*length=vol. of plate

So length of rod= vol of plate/area=176/ (352/7) =3.5
Ans: 3.5

76) One tank will fill in 6 minutes at the rate of 3cu ft /min, length of tank is 4 ft and the
width is 1/2 of length, what is the depth of the tank?

Ans: 3 ft 7.5 inches

77) A power unit is there by the bank of the river of 750 meters width. A cable is made
from power unit to power a plant opposite to that of the river and 1500mts away from the
power unit. The cost of the cable below water is Rs. 15/- per meter and cost of cable on
the bank is Rs.12/- per meter. Find the total of laying the cable.

Ans: 1000 (24725 - cost) 20250

Ans: Rs. 22,500 (hint: the plant is on the other side of the plant i.e. it is not on the same
side as the river)

78) The cost of one pencil, two pens and four erasers is Rs.22 while the cost of five
pencils, four pens and two erasers is Rs.32.How much will three pencils, three pens and
three erasers cost?

Sol :('let x b pencil, y b pen and z b eraser... u get x+2y+4z=22 and 5x+4y+2z=32 add
6x+6y+6z=54 div by 2 you get 27)
Ans: 27

79) A man has to get air-mail. He starts to go to airport on his motorbike. Plane comes
early and the mail is sent by a horse-cart. The man meets the cart in the middle after half
an hour. He takes the mail and returns back, by doing so, he saves twenty minutes. How
early did the plane arrive?

Sol: Assume he started at 1:00, so at 1:30 he met cart .He returned home at 2:00.so it took
him 1 hour for the total journey. By doing this he saved 20 min. So the actual time if the
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plane is not late is 1 hour and 20 min. So the actual time of plane is at 1:40.The cart
traveled a time of 10 min before it met him. So the plane is 10 min early.

Ans: 10 min

80) Ram singh goes to his office in the city every day from his suburban house. His
driver Mangaram drops him at the railway station in the morning and picks him up in the
evening. Every evening Ram singh reaches the station at 5 o'clock. Mangaram also
reaches at the same time. One day Ram singh started early from his office and came to
the station at 4 o'clock. Not wanting to wait for the car he starts walking home.

Mangaram starts at normal time, picks him up on the way and takes him back house, half
an hour early. How much time did Ram singh walked?

81) 2 trees are there. One grows at 3/5 of the other. In 4 years total growth of the trees is
8 ft. what growth will smaller tree have in 2 years.

Sol: THE BIG TREE GROWS 8FT IN 4 YEARS=>THE BIG TREE GROWS 4FT IN 2
YEARS.WHEN WE DIVIDE 4FT/5=.8*3=>2.4

4 (x+ (3/5) x) =88x/5=2x=5/4

After 2 years x= (3/5)*(5/4)*2 =1.5 (less than 2 feet)

82) There is a six digit code. Its first two digits, multiplied by 3 gives all ones. And the
next two digits multiplied by 6 give all twos. Remaining two digits multiplied by 9 gives
all threes. Then what is the code?

Sol: Assume the digit xx xx xx (six digits)

First Two digit xx * 3=111

xx =111/3=37

(First two digits of 1 is not divisible by 3 so we can use 111)

Second Two digit xx*6=222

xx=222/6=37

(First two digits of 2 is not divisible by 6 so we can use 222)

Third Two digit xx*9=333
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xx=333/9=37

(First two digits of 3 is not divisible by 9 so we can use 333)

83) There are 4 balls and 4 boxes of colors yellow, pink, red and green. Red ball is in a
box whose color is same as that of the ball in a yellow box. Red box has green ball. In
which box you find the yellow ball?

Sol: Yellow box can have either of pink/yellow balls.

if we put a yellow ball in "yellow" box then it would imply that "yellow" is also the color
of the box which has the red ball(because according 2 d question,d box of the red ball n
the ball in the yellow box have same color)

Thus this possibility is ruled out...

Therefore the ball in yellow box must be pink, hence the color of box contain in red ball
is also pink....

=>the box color left out is "green", which is allotted to the only box left, the one which
has yellow ball.

Ans: green

84) A bag contains 20 yellow balls, 10 green balls, 5 white balls, 8 black balls, and 1 red
ball. How many minimum balls one should pick out so that to make sure the he gets at
least 2 balls of same color.

Sol: suppose he picks 5 balls of all different colors then when he picks up the sixth one, it
must match any on of the previously drawn ball color. Thus he must pick 6 balls

Ans: he should pick 6 balls totally.

85) WHAT IS THE NUMBER OF ZEROS AT THE END OF THE PRODUCT OF THE
NUMBERS FROM 1 TO 100?

Sol: For every 5 in unit place one zero is added
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so between 1 to 100 there are 10 nos like 5,15,25,..,95 which has 5 in unit place.

Similarly for every no divisible by 10 one zero is added in the answer so between 1 to
100, 11 zeros are added

For 25, 50, 75 3 extra zeros are added

So total no of zeros are 10+11+3=24

86) There are two numbers in the ratio 8:9. If the smaller of the two numbers is increased
by 12 and the larger number is reduced by 19 thee the ratio of the two numbers is 5:9.

Find the larger number?
Sol: 8x: 9x initially
8x+12: 9x - 19 = 5x: 9x
8x+12 =5x

>x=4

9x =36 (NOT SURE ABOUT THE ANSWER)

87) There are three different boxes A, B and C. Difference between weights of A and B is
3 kgs. And between B and C is 5 kgs. Then what is the maximum sum of the differences
of all possible combinations when two boxes are taken each time

Sol: A-B=3
B-c=5

A-c = 8 so sum of diff = 8+3+5 = 16 kgs

88) A and B are shooters and having their exam. A and B fall short of 10 and 2 shots
respectively to the qualifying mark. If each of them fired at least one shot and even by
adding their total score together, they fall short of the qualifying mark, what is the
qualifying mark?
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Sol: Because each had at least 1 shotdoneso 10+ 1=11
And9+2=11

So the ansis 11

89) A, B, C, and D tells the following times by looking at their watches. A tells it is 3 to
12. B tells it is 3 past 12 . C tells it is 12:2. D tells it is half a dozen too soon to 12. No
two watches show the same time. The difference between the watches is 2,3,4,5
respectively. Whose watch shows maximum time?

Sol: A shows 11:57, B shows 12:03, C shows 12:02 and D shows 11:06 therefore,

Max time is for B

90) Falling height is proportional to square of the time. One object falls 64cm in 2sec
than in 6sec from how much height the object will fall.

Sol: The falling height is proportional to the square of the time.
Now, the falling height is 64cm at 2sec

So, the proportional constant is=64/ (2*2) =16;

So, at 6sec the object fall maximum (16*6*6) cm=576¢cm;
Now, the object may be situated at any where.

If it is>576 only that time the object falling 576cm within 6sec .Otherwise if it is
situated<576 then it fall only that height at 6sec.

91) Last year pandit was thrice his sister's age. Next year he is only twice her age. After 5
years what is pandit's age.
a)2b)12c)114d) 14

Ans: b

92) Jalia is twice older than qurban. If jalia was 4 years younger, qurban was 3 years
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older their diff. between their ages is 12 years what is the sum of their ages
a) 67 b) 57 ¢) 36 d) none

Ans: b

93) Fathers age is 5 times his son's age. 4 years back the father was 9 times older than son.
Find the fathers' present age.

Ans. 40 years

94) Joe’s father will be twice his age 6 years from now. His mother was twice his age 2
years before. If Joe will be 24 two years from now, what is the difference between his
father's and mother's age?

a)4b)6¢)8d) 10

95) Anand finishes a work in 7 days; Bittu finishes the same job in 8 days and Chandu in
6 days. They take turns to finish the work. Anand on the first day, Bittu on the second
and Chandu on the third day and then Anand again and so on. On which day will the
work get over?

a) 3rd

b) 6th

¢) 9th

d) 7th

In d 1st day Anand does 1/7th of total work

Similarly,

Bithu does 1/8th work in d 2nd day

Hence at the end of 3 days, work done = 1/7+1/8+1/6=73/168

Remaining work = (168-73)/168 = 95/168

Again after 6 days of work, remaining work is = (95-73)/168 = 22/168

And hence Anand completes the work on 7th day.
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Ans is d) 7th day

96) If TAFJHH is coded as RBEKGI then RBDJK can be coded as ---------

Ans: gcckj
97) BFGE CODED AS CEHD THEN CODE PVHDJ

Ans: QUICK
98) Find the no. of Y*s followed by W but that is not followed by Z.

YWRUDDYWZ.............
99) If VXUPLVH is written as SURMISE, what is SHDVD ?
Ans. PEASA

(Hint: in the first word, the alphabets of the jumbled one are three alphabets after the
corresponding alphabet in the word SURMISE. S = V-3, similarly find the one for
SHDVD)

100) If DDMUQZM is coded as CENTRAL then RBDJK can be coded as -----
Ans. QCEIL

(Hint: Write both the jumbled and the coded word as a table, find the relation between the
corresponding words, i.e. C= D-1, N=M+1 & so on)

101) In the word ECONOMETRICS, if the first and second, third and forth, forth and
fifth, fifth and sixth words are interchanged up to the last letter, what would be the tenth
letter from right?

Ans. word is CENOMOTEIRSC tenth word is R

102) If D MUQZM is coded as CENTRAL then RBDJK can be coded as

103) In a certain format TUBUJPO is coded as STATION. The code of which string is
FILTER?

104) What is the code formed by reversing the First and second letters, the third and
fourth letters and so on of the string SIMULTANEOUSLY?
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105) In the word ORGANISATIONAL, by reversing if the first and second the third and
fourth letters and so on of the string?

106) A power unit is there by the bank of the river of 750 meters width. A cable is made
from power unit to power a plant opposite to that of the river and 1500mts away from the
power unit. The cost of the cable below water is Rs. 15/- per meter and cost of cable on
the bank is Rs.12/- per meter. Find the total of laying the cable.

Ans: 1000 (24725 - cost) 20250

Ans: Rs. 22,500 (hint: the plant is on the other side of the plant i.e. it is not on the same
side as the river)

107) The cost of one pencil, two pens and four erasers is Rs.22 while the cost of five
pencils, four pens and two erasers is Rs.32.How much will three pencils, three pens and
three erasers cost?

Ans: 27

108) A shopkeeper bought a watch for Rs.400 and sold it for Rs.500.What is his profit
percentage?

Ans. 25%

109) What percent of 60 is 12?

Ans. 20%

110) Three men goes to a hotel to stay, the clerk says $30 per room/day so all the three
plans to stay in one room so each pays $10.After some time the clerk realizes that he
made a mistake of collecting $30 but the room cost only $25, there fore he decides to
return $5 to them so he calls the room boy and gives him $5 asking him to return. The
room boy keeps $2 with him and he returns only $3($1 for each).Now Totally all have
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paid $9 each($27)+room boy $2 which is equal to $27.where did $1 go, who has made
the mistake?

111) Two pencils cost 8 cents. Then 5 pencils cost?

Ans :( 20 cents)

112)Which is more economical of the following
a)2kg -- 30/- b)8kg -- 160/- ¢)5kg -- 80/-

113)Satish earns 240 weekly.12% of big amount + earning weekly = 540
what is the big amount
a)3200 b)3600 ¢)2500 d)1000

Ans: ¢

114) Bhanu spends 30% of his income on petrol on scooter. 4 of the remaining on house
rent and the balance on food. If he spends Rs.300 on petrol then what is the expenditure
on house rent? a) Rs.525 b) Rs.1000 ¢) Rs.675 d) Rs.175

Ans: 175

115) A sporting goods store ordered an equal number of white and yellow balls. The
tennis ball company delivered 45 extra white balls, making the ratio of white balls to
yellow balls 1/5: 1/6. How many white tennis balls did the store originally order for?
a) 450 b) 270 ¢) 225 d) None of these

Ans: 180

116) There is a circular pizza with negligible thickness that is cut into 'x' pieces by 4
straight line cuts. What is the maximum and minimum value of 'x' respectively?
a)l2,6b)11,6¢)12,5d) 11,5

117) Match the following:
1. Male - Boy ---> a. A type of
2. Square - Polygon --->b. A part of
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3. Roof - Building ---> ¢. Not a type of
4. Mushroom - Vegetables ---> d. A superset of
Ans: 1-d, 2-a, 3-b,4-¢c

118) Match the following.

1. Brother - sister ---> a. Part of

2. Alsatian - dog ---> b. Sibling

3. Sentence - paragraph ---> c¢. Type of
4. Car - steering ---> d. Not a type of
Ans. 1-b, 2-c, 3-a, 4-d

119) Match the following

1) Scooter --------- Automobile A. A PART OF
2).0xygen ---------- Water B. A Type of

3).Shop staff ---------- Fitters C. NOT A TYPE OF
4). Bug ---------- Reptile D. A SUPERSET OF

Ans. 1-b, 2-a, 3-d, 4-c

120) What is the largest prime number stored in a—
————— > 6 bit pattern (ANS~2"6=64, so no is 61)

—————— > 7 bit pattern (ANS~2"7=128, so no is 127)
——————— > 8 bit pattern (ANS~2"8=256, so no is 251)

———————— >9 bit pattern (ANS~2"9=512, so no is 503)

121) What is the max 3 digit Prime no?

ANS=997
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122) G(0)= -1, G(1)=1, G(N)=G(N-1) - G(N-2), G(5)=?

Ans -2

123) G (0)=1 G (1) = -1 IF G (N) =2* (G (N-1)) — 3(G (N-2)) Then what is the value of

G (4)?

124) If £ (0) =1 and f (n) = f (n-1)*n, find the value of f (4).

Ans: 24

125)If g (0)=g(1)=1 and g (n) = g (n-1) + g (n -2) find g (6);

126) What is the power of 2? a. 2068 b.2048 ¢.2668

Ans: 2048
127) 8 to the power of x is 32, what is the value of x?

128) Power of 4 Ans-4096

129) Which one will be the exact power of 3?
(1) 2768 (ii) 2678 (iii) 2187

130) Complete the series—
a)3,8,a,24,b,48,63 [ ANS~ a=15, b=35 ]
[HINT~DIFFERENCE IS 5, 7,9, 11, 13, 15]
B)26,19,17,13,11, ,8,7 [ ANS=9]

[HINT~26,17,11,8 DECREASING LIKE 9,6,3 & 19,13,9,7 DECREASING
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LIKE 6, 4, 2]

¢)9,10,11,13,15, ,21,28 [ ANS=19 ]

[HINT~9, 11, 15, and 21 INCREASING LIKE 2, 4, 6 & 10,13,19,28 INCRESING
LIKE 3, 6, and 9]

D)4, -5, 11,-14,22, [ ANS=-27]

131) Number of faces, vertices and edges of a cube

ANS: 6,8,12

132) Find the value of—

a) @@+25-++@16, where (@ denotes”square” & + denotes “square root”. [ANS=621]
b) $§%$6-%3%%6, where $§ means “tripling” & % means “change of sign”. [ANS=-72]
c) % # % 6 + # %# 6, % means “doubling” & # mean “reciprocal”.

132) Select odd one out

1) LINUX, WINDOWS 98, SOLARIS, SMTP (ANS: SMTP)

2)MVS

3).JAVA b) LISP c) Smaltalk d)Eiffle Ans: LISP ( All other languages are OOPS)
4)1.http 2.arp 3.snmp 4.sap Ans:sap

5)1.linux 2.windows NT 3.sql server 4.Unix Ans: Sql server

6)1.SAP 2.ARP 3.WAP 4. TCP IP

7)a. Oracle b. Linux c. Ingress d. DB2

a. SMTP b. WAP c. SAP d. ARP Ans:SAP

9)a. WAP b. HTTP c. BAAN d. ARP Ans:Baan

10)a. LINUX b. UNIX c. SOLARIS d. SQL SERVER Ans:SQL SERVER
11)a. SQL b. DB2 c. SYBASE d. HTTP Ans: HTTP

12)a. Oracle b. Linux c. Ingress d. DB2 ANS:LINUX

133) Find the singularity matrix from a given set of matrices? (Hint det (A) ====0)
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134) Which of the following are orthogonal pairs?
a. 3i+2j b. itj c. 2i-3j d. -7i4j

Ans: a, c
135) (a) 2+3i (b) 1+i (c) 3-2i (d) 1-7i .Find which of the above is orthogonal.

Ans: a, c

136) Sum of slopes of 2 perpendicular st. lines is given. Find the pair of lines from the
given set of options which satisfy the above condition?

137) If Rs.1260 is divided between A, B and C in the ratio 2:3:4, what is C's share?
Ans: Rs. 560

138)A sum of money is divided among A, B and C such that for each rupee A gets, B
gets 65paise and C gets 35paise. If C's share is Rs.560, the sum is ...
a) 2400 b) 2800 c) 3200 d) 3800

139) Complete the series.

1) 3,8, --, 24, --, 48, 63. Ans: 15, 35

2) Complete the series. 4, -5, 11, -14, 22, --- Ans - 27
3) SERIES: 2,7, 24, 77, ------ (238) or (240)
4)77,49, 36, 18,? Ans: 8 (7*7=49) (4*9=36) (3*6=1 (1*8=
S)series: 567 8 10 11 14?? Ans.15 or 18

6)1514 1211?79 8 Ans.10

7) what is the 12th term of the series 2, 5, 8 ... Ans. 35
8)58, 27,12, %, 2, 1. Find x.

9)7,9,13, ,27,37. Ans-19

10)2,5, ,19,37,75 Ans: 9

11) Complete the sequence 9, 10,11,13,15, , 21, 28.

140) UNITS

1) (Momentum*Velocity)/ (Acceleration * distance) find units. Ans: mass
2) (energy * time * time)/ (mass * dist) = distance

3) (momentum * velocity)/ (force * time) = velocity

4) Find the physical quantity in units from the equation:
(Force*Distance)/ (Velocity*Velocity) Ans. Ns2/m

5) Find the physical quantity represented by

MOMENTUM *VELOCITY]/ [LENGTH * ACCELERATION]?
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141) Find the result of the following expression if, M denotes modulus operation, R
denotes round-off, T denotes truncation:
M (373, 5) +R (3.4) +T (7.7) +R (5.8)

ANS: 19

142) Which of the following highest Standard deviation
ay7,-7,7,-1,7,-17v)7,7,7,7,1,7¢)-7,-7,-71,-1,-1,-71d) -7, 7, -7, 7,-7, 7

Ans: d

143) 232 expressed in base-5 is Ans: 1412

144) A building with height D shadow up to G. A neighbor building with what height
shadows C feet.

e e
ABCDEFGH

Sol: B Ft. or CD/G

145) In a fraction, if 1 is added to both the numerator at the denominator, the fraction
becomes 1/2. If numerator is subtracted from the denominator, the fraction becomes 3/4.
Find the fraction.

Ans. 3/7

146) The sum of the digits of a two digit number is 8. When 18 is added to the number,
the digits are reversed. Find the number?

Ans. 35

147) What number should be added to or subtracted from each term of the ratio 17 : 24 so
that it becomes equal to 1 : 2.

Ans. 10 should be subtracted
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Section-3 :( Critical Reasoning- 12 questions - 30 min)

Refer GRE BARRONS text book 12th Edition model papers.
Model paper 1: Sec - 5, Sec- 6

Model paper 2: Sec -1, Sec-6

Model paper 3: Sec -5, Sec- 6

Model paper 4: Sec -5, Sec-6

Model paper 5: Sec -3 , Sec-7

(Try to Mug up those sections . They will give definitely from those model papers only)

Technical Interview:

(Be prepare with 2 core subjects (basics) of u r Branch)
(Be prepare with basics of C and DS and some basic programs)
Basic C programs:

@ Prime Number

@ Sorting Techniques

@ Searching techniques

@ Factorial using recursion

O Fibonacci series using recursion

O Reverse the string

@ Palindrome

@ Armstrong no
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@ Strong no
@ Data structures concept
@ Linked list concept

@ Stack, queue Algorithms

Managerial Round:

@ Ask to solve any managerial problem regarding
Time management, Leadership qualities
@ Tell about u r self

@ Tell anything without interruption for 5 minutes (so be preparing in advance regarding
group leader qualities and soon .............. )

HR Interview:

@ Tell about your self(This include ur name , ur place, ur SSC school name with % ,
Intermediate college name with %, u r father ,mother, brother occupations- no need to tell
their names, u r role model, ur hobbies, strengths, Area of interest, and u r achievements)
0 Why TCS

O Tell about your strengths

@ Tell about u r weakness

@ Tell about u r hobbies

Andsoon................

(Be confident with smiling face)

(If you fail to prepare then prepare to fail)
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ALL THE BEST -1 WISH YOU HAVE A BRIGHT FUTURE

By
Anusha.

TCS PAPER ON 1st APRIL 2008

Hi friends..I am Geetha from SIT, Tumkur. TCS came to our campus on 1st april. 550
were appered for written test.350 were short listed for interview,finally 234 were selected.
first day ppt and online test.

It consists of three sections
1.verbal--synonyms,antonyms,sentence completion and passage.
2.aptitude

3.critiacal reasoninig.

1.verbal section--

most of synonyms and antonyms were from previous papers, go through that perfectly
and also practice GRE high frequency words. sentence completion not a big problem and
there was a big passage, you should be very fast in reading that.

2.aptitude section--

almost all question from previous papers,only data may change.

example: series completion- 8,10,12,17,7?,26,22

>348 in base 6

>DPNQVUEFS is coded as COMPUTER then EJTQMBS

>ORGANISATIONAL, first is interchanged with sec,third with fourth and so on,then
which is 10th char from right

>a=10%18*22 which is one is integer a)n/39 b)n//132..
>(momomtum*distence)/(velocity*velocity)=?

>f(0)=-1,f(1)=1 f(n)=f(n-1)+f(n-2),then f(6)=?

>(@represents square and + represents square root whats yhe value of @@+25-++@p
>A is twice efficient as B and A complets work in three forth of time as B, A & B
together complets the work in 18 days,hw many days required for A to complete the work.
>problem on venn diagram.

>problem on pie chart.

>finding out eqution of curve

>0dd man out:a.linux b.unix c.db d.xp

>HTTP,SMTP,ARQ,SAP and 2 more

>problem on latitude.etc

3.critical reasoning
three paragraph each three questions. all from GRE 12th edition model test paper.
>model test paper 5,section 7,question 1-4
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>model test paper 1,section 5,queston 8-11
>model test paper 4,section 6,question 17-21. practice makes man perfect.

out of 550,350 were short listed.interview on 2nd april. for those selected they will give
TCS form fill that carefully dont make any mistakes.wht ever u write in ur resume fill d
same in that bcoz they will see both. TCS interviewrs are very cool and friendly..

I tech interview first and then mr and hr.he was so cool,in d beggining v had a casual talk
bcoz to make me comfortable.

he: good morning geetha

me: good morning sir. casula chat..

he: whats ur subject of interest

me: data structures, DBMS and operating system

he :whats operating system?

me: answered.

he: what all OS u know?

me: XP and Linux.

he: whats d diff b/n linux and unix

me: answered.

he: how ¢ program gets stored in memory?

me: answered

he: whats data structures?

me: answered.

he: whats stack and queue?

me: answered.

he: write any program,if u write u will be in TCS,r u confident?
me: yes sir (with confidence).written to insert element into q and delete from queue and
explained. finally he said u r selected do well in next rounds.

they will check confidence in u.. what ever u tell,tell confidently..

next round in mr

it was so so so cool,v had casual chat.about my name,its meaning,my family background,
hobbies,etc.. be specific in ur hobbies,if u put singing they may ask u to sing,r monoact
they ask u to do,cooking they may ask receipe,.they asked many of us to draw,sing
monoact receipe,about rules of outdoor games etc..

finally hr..
there also v had casual talk..but be confident...

there was elimination after each round especially technical. final results was announced
on 3rd april.234 were selected, I was also one of them.

ALL THE BEST..
Geetha..
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TCS PAPER ON 2nd APRIL 2008

Hi friends, I am Sankalp S Rao from SRI SIDDHARTHA INSTITUTE OF
TECHNOLOGY, TUMKUR. TCS had come for campus recruitment in our campus on
April 2 and 3.The written rounds started at 10:15 am. I was the first to register for TCS
in our col. I got my unique loginid and password.The written section consisted of 3
sections with a total duration of 90 min.

The written consists of 3 sections and is an online test of 90 min. It is conducted with
Qubex (Quantitative Banking Examination ) Software developed by CMC.You have to
open the internet explorer and the QUBEX SOFTWARE window opens. It is just like
rediffmail pop up window. So, all students get different set of question papers.On the
right side of the Window you have the timer and and question number with the link. The
questions will appear in 3 different colours depicting the following

Red -- questions not answered.
Yellow- questions attempted but not answered.
Green -- questions answered.

1) Verbal (10 synonyms,10 antonyms ,1 sentence completion paragraph with 6 blanks
and 1 reading comprehension with 6 questions) --- 32 questions, 20min.

2) Aptitude section (32 questions ,40 min)

3) Critical Reasoning questions.(3 Problems with 4 questions on each ie 12 marks ) -- 12
questions,30 min

Verbal

The verbal consisted of 10 synonyms, 10 antonyms ,1 sentence completion paragraph
with 6 blanks and 1 reading comprehension with questions. Five options will be there for
each question. You have to mark the correct one.Some of the words 1 got were from
previous papers and some were new. The reading comprehension was copy paste from
GRE BARRONS 12th edition.Be very quick in this section as the reading comprehension
and sentence completion are very lengthy. Guys and Gals please mark all the answers as
there is no negative marking.If you dont know the answer mark all B's or all A's or all C's
for the options. it gives you more probablity of passing the written..

Quantitative Aptitude
This section consisted of questions from previous papers with slight modification of
data.Practice bar graph, pie charts and Venn diagram.

Critical Reasoning

This section consisted of 3 Problems with 4 questions each.This section is copy paste
from GRE BARRON 12TH EDITION.ALL THE 3 PROBLEMS I GOT WERE COPY
PASTE FROM BARRONS.I COULD SOLVE THE 3 PROBLEMS IN 4 MIN. I
CHECKED THE 3 PROBLEMS 4 TIMES IN THE REMAINING TIME.So friends
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practice barrons 12th edition problems.if you dont get answers memorise them.the
questions and options appeared in the same to same order...

The results were announced at 7 PM .and we were given TCS RECRUITMENT forms.
The next day we had technical round mr and hr round..The technical questions were

1) diff between 85 and 867

2) What is an OS?

3) Types of OS? Real time, Multi tasking ,Multiuser,etc

4) What is normalization?

5) What are primary , foreign and reference keys?

6) Can primary foreign and reference keys be given NULL value? primary key null value
cannot be given.

7) What is polymorphism?

8) Types of polmorphism? run time and compile time polymorphism

The hr was not conducted due to shortage of panel and time constraints. the mr was easy
with only 3 questions

1) Tell me about yourself?

2) Where do u see urself in 5 years?

3) Why TCS?

The hr round was cancelled and a group discussion round was arranged.Friends TCS does
not have GD. But they conducted gd because of shortage of time.so plz be prepared for
that. Just speak something.

Finally the results were announced at 1030 at night. 85 people got through and ofcourse I
got into my dream company TCS..We got the initial selection process letter from TCS. I
am now a TCS associate and proudly say " EXPERIENCE CERTAINTY".

ALL THE VERY BEST FRIENDS. YOU TOO CAN DO IT. BE CONFIDENT AND
ANSWER POSITIVELY.THATS WAT THEY LOOK AT..

MEET YOU IN TCS.......

TCS PAPER ON 2nd FEBRUARY AT NEW ELHI

First of all all u TCS aspirants i would like to say dat by GOD's grace n support of my
friends n family i got in TCS. I also like to pay my regards to Fresher's world n all those
who share dere experiences here Thankyou all...... TCS conducted campus drive in MSIT
Janak-puri New Delhi,me n my college visited MSIT.I must say dat all dat u need is to
believe in urself n almighty n everything will b fine(it's all in ur stars).

I would like to share my experience with u all who r preparing for TCS.

Ist Round : Written(Online test)
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It's an online test consisting of 3 sections

Ist section : Verbal

10 synonms, 10 antonyms,n paragraphs

1 would suggest don't prepare for dis section as it's really hard to remember synonms n
antonyms

i really not prepared for dis section

2nd section : Aptitude

Prepare dis section very well dis section consist of 32 questions.For dis section prepare d
old TCS questions

bcoz dey r always same(questions r given in dis portal by a Galgotia's student).And try to
attempt most of d questions

as dere is no negative marking.I attented about 28 questions n dey are correct as i knew.

3rd section : Reasoning

12 questions will b dere.l have 3 paragraphs with 4 questions each.Prepare all 5 model
test paper from

GRE Barrons(12th edition).They put exact paragraphs from Barron's n atleast prepare all
those paragraphs

which have 4-5 questions.If u are not able to solve dem dan just mug up all of dem.

Technical Interview

For technical interview prepare ur previous semester main subjects.

Please try to do a project.In my case my technical interview goes for 30-35 min they were
taking the technical interview for an average of 40 minutes.

So b prepared TCS really takes the Techincal Interview.

Both of my interviewer's were very cool n supportive.

Int : Atul please come in

Me :i getin.

Int : Have ur seat Mr Atul

Me : Thankyou sir.(Don't sit untill dey asked u to do so)

Int : Tell me sumthing about urself(this is d obvious one so prepare it very well)
Me : Told.

Int : Tell me sumthing more ?

Me : I again started.

Int : What project have you worked on ?

Me : I told(I created a Pin-Ball game in Computer Graphics using C)

Int : Asked me the thorough working of the code n asked to explain

Me : I expalined(dey try to make you confuse but have confidence in urself)
Int : Tell me sumthing about enum ?

Me : I told him with some examples.

Int : He asked me to access arrays through pointers ?

Me : I done dat n dan explained d procedure behind dis.
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Int : He asked me about heap n binary search trees(as i mentioned DS as my area of
interest)

Me : I explained him d properties n uses

Int : He asked about DBMS ?

Me : I said i m not dat much efficient in DBMS.

Int : He said u hav DBMS in ur 3rd semester n you is not efficient in dat?
Me : Sir i know d basics only

Int : Okay tell me some DBMS's

Me : I answered about 5

Int : Tell me d basic parts of CPU ?

Me : I answered

Int : Ok imagine u hav all these parts now assemble the CPU ?

Me : I told him the process step by step

During d interview dey try to ¢ ur confidence about wat u r saying.

Try to explain with practical examples.They r not checking ur communication skills here
bcoz in my case i speak a word in HINDI n one of the interviewer said ya go on afterall
HINDI is our mother tongue

so just try to b correct.

HR Interview

For HR interview i would suggest u to be confident.

bcoz this d only thing dat dey r looking for in dis

round.Try to maintain smiling face whatsoever b d condition bcoz dis is d main reason
due to which i1 was able to clear this round.

My Hr was 45-50 yr old very tall n very serious(i prayed lot dat i go in some other panel
but....)

Hr : Atul come in

Me :1igetin.

HR : Have ur seat Mr Atul

Me : Thankyou sir(he looked at me very pointingly)

HR : Tell me sumthing about urself(this is d obvious one so prepare it very well)

Me : Told(dis time i goes on n at last i said dats it from my side anything more u want to
know Sir)

HR : What is Data-structures ?

Me : I explained.

HR : What r pointers ?

Me : I expalined(try to make a little bit hand movementsto show ur confidence but very
little)

HR : What is structures ?

Me : I told him with some examples.

HR : He asked me who is the Prime MInister of India ?

Me : I said.

HR : Dan who is the Education Minister of India ?(Now my tough time starts)

Me : Isaid i don't know Sir.
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HR : He said u don't know the Edu.Minister of ur country ?

Me : I said sorry Sir

HR : U is professional but not a complete professional

Me : Sorry sir but i will surely work on dat.

HR : Dan he asked a lot of questions on poltics n i was not able to answer dem

HR : He said wat is the future of IT in India speak on dat.

Me : I speak n told some good points to him

HR : He asked some more questions n finally he stare at me for 2 minutes n said ok
thankyou Mr.Atul

Me : I said thankyou sir n leave

During d interview dey try to ¢ ur confidence n body language.They put u in odd
conditions 2 ¢ ur reaction Try to confident n please don't boast.They check ur
communication skills here

She is really very beautiful n co-operative actually i really not felt as i was in my final
interview. It was ver cool finally she asked me to wait for some time.

My final interview completes at 4'o clock n our result was announced at about 8:30pm.
My NAME was dere in d finally selected list,i m d happiest person on earth. Through
GOD's grace n my family's n friends support n hepl 1 made my way to TCS....

Best of Luck to all of u......
TCS PAPER ON 2nd MARCH 2008

Hey Everybody... TCS conducts an online test which comprises of three sections.
Section 1: ENGLISH(40 Questions,20 Minutes)

Section 2:QUANTITATIVE APTITUDE(32 Questions,40 Minutes)

Section 3:CRITICAL REASONING(3 Paragraphs,30 Minutes)

SECTION 1:
This section comprises of 10 synonyms, 10 antonymns and 2 comprehensions.

For synonymns and antonyms,refer GRE BARRON'S 12TH EDITION.Also refer to the
antonym questions of part two and high frequency word list in any GRE'S edition.

Some of them which i1 got were:
ANTONYMS:

1.)Antithetical

2.)Stupefy

3.)Hidebound

4.)Hedge

5.)Sequestor

SYNONYMS:
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1.)Celibacy
2.)Equanimity
3.)Moribund
4.)Contumacious
5.)Pandemonium

For comprehensions,just properly attempt any one of the two.And the other one could be
done away with guess work.

SECTION 2:

1.) Find the result of the following expression- M (737, 7) +R (3.4) +T (7. 7)-R (6.4) if,
M denotes modules operation, R denotes round-off, T denotes truncations?

Sol. 2+3+7-6 =6

2.)In a city, temperature at noon varies according to -t"2/6 + 4t + 12, where t is elapsed
time. Find the percentage change in temperature from 3pm. to 6 pm.
Sol.In equation first put t=3,

we will get 255, (D)
Now put t=6,

we will get42.....cooovvviiiiieienen. (2)
So %change = ((42-25.5)/42)*100)
=39.3

3)Ifg(0) =1, g(1) =-1 and g(n) = g(n-1)-g(n-2) then calculate g(5).
Sol. Start with g(2) =g(1)-g(0)=-1-1=-2, g3)=g(2)-g(1)=-2+1=-1, g(4) =
g3)-g(2) = -1+2=1, g(5) =g(4)-g3) = 1+1 =2.

4.)Which shape will be obtained by using these values of X & Y?

X Y
0 0.00001
10 1.02
100 1.72
1000 3.00
9999 4.72

Sol): Y= 1og10(X)
5.)Find d unit of given expression - (Force*Distance)/ (Velocity *Velocity)?

Sol. MASS
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6.)A can copy 20 pages in 4 hours and A and B can copy 70 pages in 10 hours. How
much time B will take to copy 26 pages?

Sol. A’s 1 hour work =20/4=5 pages , A+B’s 1 hour work = 7 pages So B’s 1 hour work
=7-5=2 pages. Time taken by B to copy 26 pages =26/2=13 hours.

7.) . A, B and C are the mechanisms used separately to reduce the wastage of fuel by 20%,
30% and 10%. What will be the fuel economy if they were used combined?

Sol.Method is (80/100*70/100*90/100)*100 = 50.4

So, economy = 100-50.4 =49.6

8.)What is the largest prime number which can be stored in 6 bit register?
Sol.61....[(2"n)-1],it gives 64 but the nearest prime no is 61.

9.)How the given string how many Y’s are followed by L that are not followed by
PYLYPQMYLPMLYLLYQMYYLQYLPLYAMLYLM Sol. Only count pairs of YL and
discard pairs of YLP.ans would be 4 in this case.

10.) Find d singular matrix from a given set of matrices?
a)23 b)416 c)05 d)98
45 14 15 45
Sol....b)[det (A) =0 1i.e. ((al 1+a22)-(al2+a21)]

11.) Which of the following are orthogonal pairs? a. 3i+2j b. itj c. 2i-3jd. -7i+) ?
Sol. The product of slope(y/x) of two equations should be -1.Therefore ans is a and c.

12.) My flight takes of at 2am from a place at 18N 10E and landed 8 Hrs later at a place
with coordinates 36N 80W. What is the local time when my plane landed?

Sol. Everyl deg longitude=4 minutes . If west to east add time else subtract time and
measure the longitude form GMT.Since 90 degree=90*4=360minutes=6 hours. Don’t
take into account the value of N and S if any. So the local time of landing = 2+8-6=4am.

13.)In two dimensional array X(6,9) each element occupies 4 bytes of memory. If the
address of first element X(1,1)is 3000 then what will be the address of the last element
X(2,3) ?

Sol.X(J,K)=Base+w[N(J-1)+(K-1)].This is what i read in DSA where M=6 and N=9.
Therefore...3000+4[9(2-1)+(3-1)]

14.)A power unit is there by the bank of the river of 900 mtr width. a cable is made from
power unit to power a plant opposite to that of the river and 3000 mtr away from the
power unit. The cost of the cable bellows water Rs5 / mtr and cost of cable on the bank is
Rs 4/ mtr. Find the pt where the cable cut through the river.

a.2800 b. 3000 c.2100  b.3900

Sol. Just use simple trigonometry
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Ans: 2100(3000-900)

15.) Find d Odd one out? JAVA b. LISP c. Small talk d. Eiffel
Sol. All other except LISP are object oriented programming languages.

16.) Match the following

1. Male — Boy a. A type of

2. Square - Polygon b. A part of

3. Roof - Building c. Not a type of

4. Mushroom — Vegetables  d. A superset of
Sol. 1-d, 2-a, 3-b,4-¢

17.)Which of the following heaving highest standard deviation?

a. 9,0,9,0,9,0 b.9,-9,0,9,0,-9 c¢.9,-9,9,-9.9,-9 d. 9,9,9,9.9,9

Sol.C, standard deviation is 18(i.e. the difference between two consecutive terms is
highest).

And some questions from bar diagrams and pie charts.

SECTION 3:

For this section go through the model test papers of GRE BARRON'S 12TH
EDITION.Please do them.Without them it would be difficult to solve them during the
exam.

INTERVIEW:

I had three rounds of interview.The 1st one was technical,the second and third comprised
of HR and MR questions.Y oir interview depends on the panel you have got.So a little bit
of luck also plays its part in the interview.But remember to be confident,not
overconfident.If you don't know something,tell them that u have read it somewhere but
can't remember right at that moment or say sorry i have not read about it.Don't show your
arrogance and don't interrupt the interviewer. Try to be humble to the most and try thinkin
before answering.Take your time and then answer but don't fumble while trying to
answere at once.And also show them time and again how TCS has always been your
Dream Company.

I am happy to be a part of such a prestigious company.If you believe in yourself and have
faith in God..you'll definitely be a part of TCS too.So wishing ALL THE BEST to the
aspiring ones.

TCS PAPER ON 3rd MARCH 2008

Hello

TCS recruitment procedure basically include 4 rounds:
1) Online Aptitude Test
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2) Technical
3) HR
4) MR

But in my case it was a bit different, after clearing the Aptitude test, i had 3 interviews in
each of which 1 had to face all the three (technical, HR, MR) kind of questions.

I'll try to separate out the questions into the 3 categories.

TECHNICAL

Although I am a CSE student, [ was questioned mostly on Electronics subjects. So do
take care about brushing up Electronics and Physics also.

01. NAND Gate

02. Ways to connect a computer in India and another in Switzerland (only 1 or 2 won't do,
they wanted wayS)

03. Modulation-Demodulation

04. Working of a modem

05. Program for logic gates

06. Difference between MS Access and Oracle

07. RDBMS product in market

08. Why make queries and use SQL when u have MS Excel

09. Reflection, Refraction, Total Internal Reflection

10. Optical Fibre

11. Bit, byte, kilobyte, memory, etc in ¢, c++ and Java

12. Microwave

NON-TECHNICAL

01. Tell me something about urself

02. Why should we hire u?

03. What r ur weaknesses?

04. What is special about today? (Ans.: 3rd March is celebrated as Tata Day(Mr. Jamshed
Tata's B'day))

05. What would u do if u are walking on a highway all alone with no means of
communication and you witness an accident in which a motorcyclist is badly injured?
There is no other vehicle to seek help from.

06. Why should we hire you?

07. Tell us about E-Major and E-Minor chords in guitar (my hobby)

08. Speak for 2 minutes on "Americas war on Iraq"

09. Difference between a Joint and Nuclear family

10. Where do u see urself Syrs dowm the line

11. What would u like to do 24 hrs in a day

12. Why T.C.S.?

13. If microsoft or some other company pays u more than us, u'll leave us?

14. What would ur reaction be if u do not find ur name on the selection list and wat
would u do?

15. What r the 2 changes u would want to make in the TCS recruitment procedure?
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16. What 2 improvements would u like to make in urself?
17. Founder of TCS?

A no. of more such questions were asked, these are the major ones. Each interview was
of 25-30 minutes

They also take ur STRESS Test. For example, although I have more than 8.5 percentile,
he scolded me for bad grades. He said that it was poor performance and i needed to study

properly.

The basic trick is to keep ur cool and a smile on ur face. Pls do not try to fool them, if u
dont know something, accept it then and there.

TCS PAPER ON 7th FEBRUARY 2008

Hello everyone! I am Kartik Bhandari, 3rd year student of Department of Electronics &
Communication Engineering of Shaheed Udham Singh College of Engineering &
Technology, Tangori. We took part in joint campus drive by TCS at MMEC Mullana on
6,7,8 Feb '08.

Written

As said by everyone here.. the question paper consisted of simillar questions like the ones
available over here. I did not feel there was a single question new that did not occur in a
previous paper. | suggest everyone to go through all the papers they can and to solve
questions rather then mugging up the answers because the values do change and some of
the answers provided here were even wrong (very few though). If you can sove these
papers, around 20 atleast, theres not really any need of solving RS Aggarwal for TCS
atleast.

For the verbal section, please go through barron's high frequency words, model test
papers and learn all the previous paper synonyms and antonyms, additionaly learn more
words for the words already put up in past papers.

Lastly for critical reasoning do all the passages from Barron's 12 edition model test
papers. My friends told that they had the same questions, some even had whole of the
three passages as same. I did not go through many so i had only one same.. but i managed
to solve the other two correctly.

For the written concentrate maximum on aptitude and then critical reasoning and lastly
syn/ant in this order. but dont leave any because you never know they might put up
sectional cut-offs.

Interviews
There were three rounds of interviews- Technical, HR & MR in that order. There were 16
pannels with two people in every pannel. They were very nice and comforting. Anyone
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who cleared a particular round was called for the next one within 2-10 mins in our case.
Because there was a large number of people to be interviewed on the last day (3 colleges)
so they were calling the people who cleared an interview as soon as his/her form reached
the next level of pannel. They had told that in case they fall short of time they will
combine the HR & MR interviews.. but they did not.

In my and some more other candidates cases a strange thing happened.. We were
confident of clearing the technical, but even when two hours passed we were not called
for HR.. and some of the candidates who went for technical AFTER US had even gone
for HR and then were waiting for a turn for MR.. we had assumed that we did not make it
after 3 hours. We could not believe it.. 1 thought i gave the best technical interview, they
were very happy with my tech interview.. and then.. when even HR calls stopped coming
and MR were nearly done..

two of us waiting were called for MR!!!! we later found out that our pannel was taking
tech + hr together (this explains why mine and Amits interview went more then double
the length of any tech interview and even had hr questions along with technical)..

These are some of the common questions asked at this placement session:

Technicals

Electronics:

Diff b/n capacitor n condensor

Pin config of 8085/8086

Diodes n its types

logic families or, xor,nor,and using nand

the question varied in their entirety.. so you need to brush up your basics.. although most
of the questions asked were from c++ only.. if one culdnt fare well in c++ then they
moved to electronics.. but in some cases they started with core electronics.. so its very
random.. u just need to be confident

C++

define oops

swap program

call by value/refrence

pointers, pointer to pointer

data encapsulation

recursion

polymorphism

file handling

and they give some program to check/correct/explain/write etc

you need to know atleast breif details of all the topics in c++ if not the entire details.

HR
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about urself (please avoid d rum of d mills " i am xyz, 1 did my schooling from abc i am
in pqr college, i got so many marks n stuff... they can read this from your resume) they
make question of what you say.. so be carefull in what you say and be very sure of
everything you write in your resume

why IT (if from any other branch)

why TCS?

what are your career plans?

do you plan to go out of the country?

mba/gmat??

examples of how you can conclude on what your strengths are..

can you sign a bond?

MR

they scan your resume and ask you about some achievements they may give you some
situations and ask how will you react to them some were even asked general knowledge
questions basically they check your confidence and the way you handle things.

SOME USEFULL TIPS

>dont think you can bluff them, dont even try to

>if you dont know something, you can let them know that u dont know it, this wont harm
you

>dont be over confident

>everything in your resume should be true and you should remember all details (paper
presentations, awards, contests etc) they might test you

>do not forget to go through their website.. you should know all new changes, d vision n
mission, new clients, contracts etc (i knew all this and it helped me in both HR and MR
interview as i could combine this knowledge about tcs with my answers)

>be well dressed, dnt forget to great, seek permission to sit/enter

>be confident..

n lastly.. for the interview.. dont be nervous.. think of it as a person who is trying to know
about you and you have to help him for the same..

when you go through the papers here at freshersworld.com you'l see every paper (of TCS
atleast) ending with a "then the results were announced and i was selected.. see you at
tcs" and it was then when i decided i will definately do the same.. so friends.. take this as
a challange that even you have to write the same here.. it was the first campus of our
batch.. so not many could make it.. but i was one out of those who did.. yup "i got
selected for TCS".. It feels great, and i wish all of you too get to exprience this!!

So all the very best to everyone!! "See you at TCS"
TCS PAPER ON 8th FEBRUARY 2008

Hi! I'm venus from Patiala ( Punjab ), doing Electronics n Comm. Engg .. a 3rd year
student from Shaheed Udham Singh College of Engg & Tech., Tangori, Mohali... First
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of all I want to thank freshersworld.com for providing such a platform to find detailed
versions of test papers n interview experiences dat one can actually (almost) predict what
its all goin to be like..

The following is a preview of how it all worked out for me!!

THE WRITTEN (ONLINE) TEST:

@  No sectional cut off

©®  No negative marking

@ 3 sections : verbal (20 mins) , aptitude (40 mins) , critical (20 mins)

@  Ifudon'tclear the apti, critical reasoning section doesn't open.. so u NEED to clear
this section for sure!!

©® U can do to & fro in the same section.. but once the time is over 4 a particular
section, u will not be able to even view the previous section’s questions.. so, my advice
wud be that u should keep attempting the questions as they come (as there's no —ve
marking) & just keep noting down the guessed questions’ numbers & if u get free time in
the end, then come back to those & try to solve them..

@  Don’t forget to submit each question after attempting.

©  Each question appears one by one in apti section.

VERBAL SECTION (20 mins)

10 synonyms, 10 antonyms.. all from GRE BARRONS 12th edition

(Download this book from online..)

Just do the exercises given at the back only..

Some ppl try to mug up d various comprehension passages of GRE barons.. but I cud
solve it then n there..

just brush up on ur reading speed, n I guess it'll be a cake walk..

APTITUDE SECTION (40 mins)

There wasn't a SINGLE question that was not repeated.. (I wud recommend d paper
posted by ‘anuj gupta’ on dis site itself 4 referring 2 d various solved numericals dat r
generally asked..)

There r around 38 questions dat u have 2 do in 40 mins.. but trust me, if u’'ve done d
previous question papers, u'll even have extra time left 4 reviewing n revising also..
Data interpretation question was asked too, but it as also easy..

CRITICAL REASONING (20 mins)

Only if u clear d aptitude section, will dis section open.. so, u'll knw dat if u've been
scoring ok enough, critical reasoning section will appear.. just do d ones given in barrons
model test papers.. n u'll have confidence.. though d names will be changed, so jus don't
mug it up..

though, in my case, there were 3 passages with 4 questions each & i'd done most of d
barons critical stuff.. but only 1 passage came from barrons n rest 2, I had 2 solve then &
there.. so, keep ur cool even if u get a completely new reasoning passage..)

THE INTERVIEWS:
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There were in total 3 interviews.. a technical, an HR n an MR.. (I knw, sounds too many..
rite?)
But, believe me, if u're done with d tech, u're 95% there..

TECHNICAL INTERVIEW

There were 2 interviewees n I greeted them with a smile..

Well, it started quite vaguely.. I introduced myself, n told abt poetry as one of my
interests.. (I do write poems.. n don't ever try 2 cheat abt ur interests atleast..)

He asked me 2 recite a poem n also warned me dat it shudn’t be on net..

But, because I do write, I was confident abt my originality n they loved d poem..

A ew questions abt my av subject, ct++ (told me to write a program of Fibonacci series),
more ECE subject based questions.. Then, he went down to my achievements, my
strengths n weaknesses.. I couldn’t believe that this was my tech interview goin on with
those questions.. anyways, when I finished of with it, I knew that I’d left a mark..

HR & MR INTERVIEWS

I certainly b’lieve that once u r done with d tech, ur 95% there & that really boosted up
my confidence to grab the opportunity comin my way.. to get placed in TCS & simply go
in there with the same drive.. give ur best shot.. n ya, DON’T LOOK NERVOUS AT
ALL, EVEN IF U R.. otherwise they’ll pull ur leg at each moment..

Well, HR & MR r mere formalities.. so, jus be in ur own self, calm & composed but at
the same time energetic enough to interest them..

TCS PAPER ON 8th MARCH AT LUCKNOW

Hi friends, I m YUSUF KHAN (MCA 2006-09)from BBDNITM LKO. I was appeared in
TCS recruitment process on 8th march 2008 at BBDNITM lko. There were three rounds-
written test (online), TI (technical interview) and

HR round.
Basically TCS recruitment process starts with the online exam.

ROUND 1

Online exam pattern:: It basically consist three sections- VERBAL,QUANT APTITUDE
and CRITICAI reasoning.There was no sectional cut off. Tcs has fixed cutoff for whole
written test it is not based on the high scorers. So as u complete the test ,the result will be
displayed immediately and if u r selected then u r eligible for other rounds.

VERBAI SECTION:
:it consists of 10 Antonyms, 10 synonyms and abt 10 to 12 ques based on passage reading.

SYNONYMS:
florid
mirage
furor
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choleric
infirmity
pinnacle
voracious
slump
placate
expound
ANTONYMS:
lugubrious
retrospection
industry
mitigate
synergy
boorish
gamely
indigenous
fascinate
prostrate

(Actually these are the words which I got in my test paper, but I would advise not to
waste ur time in learning English first coz no one can get more than two or three words,
so don’t worry for that just see all the words from previous papers.)

SECTION -2 (APTITUDE)

1) If log 0.317=0.3332 and log 0.318=0.3364 then find log 0.319 ?

Sol) log 0.317=0.3332 and log 0.318=0.3364, then log 0.319=1l0og0.318+(log(0.318-
0.317)) =0.3396

2)My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place
with coordinates 36N70W. What is the local time when my plane landed?

6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00

Sol) The destination place is 80 degree west to the starting place. Hence the time
difference between these two places is 5 hour 20 min. (=24hr*80/360). When the flight
landed, the time at the starting place is 12 noon (2 AM + 10 hours). Hence, the time at the
destination place is 12 noon - 5:20 hours = 6: 40 AM

3) what's the answer for that : A, B and C are 8 bit no's. They are as follows:
A->11000101

B->00110011

C->00111010(-=minus, u=union)

Find ((A - C) uB) =? To find A-C, We will find 2's compliment of C and them add it
with A, That will give us (A-C) 2's compliment of C=1's compliment of C+1
=11000101+1=11000110 A-C=11000101+11000110 =10001001

Now (A-C) U B is .OR. logic operation on (A-C) and B 10001001 .OR . 00110011 The
answer is= 10111011,
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Whose decimal equivalent is 187.

4) In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory,
with the address of the first element X (1, 1) is 3000, find the address of X (8, 5)

Sol) initial x (1,1) = 3000 u hav to find from x(8,1)so u have x(1,1),x(1,2) ... x(7,7) =sou
have totally 7 * 7 = 49 elementsu need to find for x(8,5) ? here we have 5 elements each
element have 4 bytes : (49 +5-1) *4 =212 ----- (-1 1is to deduct the 1 element ) 3000 +
212 =3212

5)The size of a program is N. And the memory occupied by the program is given by M =
square root of 100N. If the size of the program is increased by 1% then how much
memory now occupied ?

Sol) M=sqrt(100N) N is increased by 1% therefore new value of N=N + (N/100)
=101N/100

M=sqrt(100 * (101N/100) )

Hence, we get M=sqrt(101 * N)

6)In two dimensional array X(7,9) each element occupies 2 bytes of memory.If the
address of first element X(1,1)is 1258 then what will be the address of the element
X(5,8)?

Sol) Here, the address of first element x[1][1] is 1258 and also 2 byte of memory is given.
now, we have to solve the address of element x[5][8], therefore, 1258+ 5*8*2 = 1258+80
= 1338 so the answer is 1338.

7) The temperature at Mumbai is given by the function: -t2/6+4t+12 where t is the
elapsed time since midnight. What is the percentage rise (or fall) in temperature between
5.00PM and 8.00PM?

If g (0)=g (1)=1
And g (n)= g (n-1) + g (n-2) find g (6);

9)Find the physical quantity represented by MOMENTUM *VELOCITY] / [LENGTH *
ACCELERATION]?

10).Which is the largest prime number that can be stored in a 6-bit register?

11) In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory,
with the address of the first element X (1, 1) is 3000, find the address of X (8, 5).

ANS: 3212

12)Select the odd one out a. Oracle b. Linux c. Ingress d. DB2
ANS: LINUX

13)In which of the system, decimal number 194 is equal to 1234?
ANS:5
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14) Number of faces, vertices and edges of a cube
ANS:6,8,12

15) Find the result of the following _expression if, M denotes modulus operation, R
denotes round-off, T denotes truncation:
M(373,5)+R(3.4)+T(7.7)+R(5.8) ANS:19

16)If TAFJHH is coded as RBEKGI then RBDJK can be coded as ---------
ANS: PCCKJ

17) Which of the following are orthogonal pairs?
a. 3i+2j b. it

c.2i-3jd. -7itj

ANS: (A)& (O).

18) What is the power of 22 a. 2068 b.2048 ¢.2668
ANS: (B). 2048

19)Which of the following set of numbers has the highest Standard deviation?
1,0,1,0,1,0

-1,-1,-1,-1,-1,-1
1,1,1,1,1,1
171705- 707_1

20). Match the following:
1. Male - Boy --->

a. A type of

2. Square - Polygon --->
b. A part of

3. Roof - Building --->

c. Not a type of

(All questions are repeated so learn the answers of all ques from previous year paper, so
plz go through all prev year questions)

CRITICAL SECTION::
Actually this is the most important, scoring and deciding section of the test.

All the questions are from GRE BARON (strictly 12th edition) so go through all 5 model
test paper’s analytical section (1 to 5) given at last in Baron. No need to waste ur time
and money in buying other books for TCS just go through Baron only ,all questions are
from this book.

ROUND 2: TECHNICAL INTERVIEW::
Be prepared for the technical interview. Mostly its on the same day after one
hour.Prepare few of ur subjects very well like C,C++,DS,DBMS(specially
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queries),0S,COMP Networks,OOPs concepts etc.Hey friends don’t be afraid, thay wil
not ask u anything in depth they just check ur awareness and ask only some basic
conceptual questions. They may ask abt ur fav subjects bt still they ask u abt DBMS n
other subjects that u hv studied in earlier sem, so don’t tell them the names of the subjects
in which u don’t hv good command. If u don’t know anything abt the ques asked by them
then don’t try to make false stories or guesses, just simply deny that u don’t know, and
always try to divert them towards ur fav subjects. They will ask u abt ur project ,if u hv
done any, so be prepared for it, it’s E R diagram, SRS, front end, back end,DFD,and
overview of the project etc.Don’t BE quiet, be talkative nd don’t get embarrassed if u
don’t know the answer.be confident.i m attaching few most important ques of
DBMS,SQL,C,C++ etc for TI , just go through them if u don’t hv much time, it will be
enough.So u people can download it or if u don’t hv it just ask me on my e-
mail(yusufkhan mca@yahoo.co.in).

ROUND 3: HR ROUND::

The key elements for this ROUND according to me are-CCT i.e. be Calm,be
Confident(not over confident) and be Talkative. Basically they ask u all those ques that
are typically asked in all interviews so be prepared for it ,readymade answers.Normally
they check ur confident level, English speaking, and wat efforts u hv done before coming
to face HR interview. Just go through the home page of TCS website and collect in
formations abt them like::

Who is chairman, CEO, CFO, COO of TCS, BOARD of directors, Company’s
MISSION , VISION and VALUES, Target achieved by company during last few yrs,
position of company in IT field etc.

Questions for HR (be prepared for atleast these ques)

1. Describe yourself??

2. ur hobbies(be prepared for this ques coz they will ask u much abt that ,if u say singing
be prepare for a song,if u say joking be prepared to tell them a joke etc.)

3. Why u want to join TCS??

. Where would u think urself after five years in TCS?

. Why should I hire u??

. they may ask u something abt tcs?its statistics, CEo,CFO etc.

. whats ur fav time pass??

. ur strength ,ur weakness (don’t tel them any grt weaknes of urs like if u hv less
communication skills, etc)

9. Do u have any role model?? Describe his/her achievements?

10. Finally they will ask u do u want to ask something from them? So if u hv some
genuine ques to ask u may ask.

003N Dn K~

Statistics::

Overall 580 students appeared for written test.
Qualified for round 2::360

Qualified for round 3::195
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Finally selected:90 students
B-Tech 86 from all branches and MCA’s only four (coz only 17 appeared for written)

Finally result was announced on 11th march 08 at 12:30 a.m. and I was selected.

So all the best n meet u in TCS.

TCS INTERVIEW ON 9th MARCH 2008

Hello Guys . This is Ashutosh Kumar Singh (B.Tech 3rd year CS ). TCS conducted a
recruitment Drive in my college (V.I.LE.T , Ghzbd) on 9th March 2008 (for three days ). I
cleared the written exam (online) . For written exam , just go through the previous papers
& Barron’s 12 Edition . This will be sufficient . But, b careful not to press d ‘Exit’ button .
It’1]l lock ur answers .

Interview was a three round process .

* Technical Round .

* HR Round .

» Mangerial Round .

Technical Round :

Firstly ,I entered the room for the technical interview .

I said “May I come in Sir” .

He said “Come in” .

I said “Good Morning” to both the interviewers (actually 1 was male & another female).
I said “May I sit” They said “Sure” .

The first question for me is “Tell me about yourself” .

Told .

Then they immediately shifted there focus to technical part . They read (in my CV)
about my first Project .

He asked “Wht’s platform for dis”.

I said “Java Sir” .

He said “You know Java” .

I said “only Core Java” .

He asked “What is Multithreaded ?” . Told . ( Upto 5 mins he asked questions related to
Multithreading , I gave answer to all questions ) .

He asked “Wht is Inheritance ?” . Told .

He asked “Is dere any concept of Multiple Inheritance ?” .

I said “No” .

He asked “Then How can we achieve Multiple Inheritance ?”.

I said “We can use Interfaces”. He asked few questions on Interfaces .

He asked about RDBMS . (My favourite ). I told everything about RDBMS .

He asked “Wht is DDL & DML ?”.

Told .

They both asked a lot questions on RDBMS & answered all of them .

Finally the lady questioned “Do u know JDBC ?”
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I said “Yes ! [ used JDBC in my project” .
Then She said “Can u just write the code to connect Java with any Database ?”.
I wrote the whole code for connection . And then I came out of the room .

HR Round :

After 5 mins or so ,I got a call for Hr interview .

I entered the room “May I come in MAM ?” . There were two sweet females .

I said “Good morning Mam” .

They said “Good morning” .

They said “Tell me about yourself which is not mentioned in ur CV”.

I said “My hobbies r ... , My strengths are ..., My weakness are ...” . In d weakness
section I said “Due to dedicated work my social Life gets affected” .

She said “Ashutosh ! U r very smart” . She repeated this sentence thrice .

But I repeatedly said “Mam whether u believe it or not it’s a fact” . I even mentioned
some of my instances where I actually suffered due to work .

She said “ Why TCS ?” . Told .

She said “If we place u somewhere like Trivandaram ?”’

I said “No problem ! Mam”.

She told me about the Bond of Rs. 50000 , that if I’1l leave TCS b4 2 years ,then I’ll have
to pay this much of amount . “R u comfortable with the amount ?”

. I'said “I’ll not leave TCS for my whole life .So, I don’t have to worry about this
amount”

After few more questions , I got out of the room .

MR round (Next Day) :

I entered the room saying “ May I come in Sir” . This time there was only 1 single guy .
He seems to b a very experienced man .

He said “Come in” .

He said “Tell me about yourself , Explain both ur projects (2) . This time only u’ll speak
& I'll listen™ .

I started off & ended up explaining my both two projects .

He asked few questions on my project ( especially from the second project ) .

Then he asked me some general questions .At last he asked me to solve 1 puzzle "There r
9 points & I was supposed to join dese points with only 4 lines " .

I did this .

Then he again gave another puzzle ,which was a bit tough for me . [ wasn't able to solve
dis 1.

It's like if u dont answer or able to crack dese baffles ,u dont need to b worry ,coz dese
things hardly matters . But ,If u'll solve dem ,it'll b an added advantage for u .

Otherwise ,I think dat only d Technical interview is important .

It's like 70% - Tech interview , 20% - Hr Interview & 10 % - Mr Interview .

After 3-4 long hours results were announced & My name was there . [ was very happy .

It’s very easy to crack TCS . Guys u can do it , I must say AnyBody can do it .
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TCS PAPER ON 11 MARCH AT LUCKNOW.

Hello friends .I m Ashok Maurya from INTEGRAL UNIVERSITY. my branch is ECE.1
appeared in the campus placements organized by TCS held at Integral University on 11th
& 12th march 08. There was no sectional cut off, no upper cut off, but what i felt was that
for critical reasoning u must have to do at least one passage consisting of 4 questions
correctly .

WRITTEN TEST:

It was an online test which consisted of three sections: 1) Verbal. 2) Quantitative
Aptitude. 3) Critical Reasoning. VERBAL SECTION: It consisted of 10 antonyms, 10
synonyms and two passage in which you have to fill in the blanks with correct sentences.
For antonyms do only the 5 model test papers & for synonyms prepare the exercises in
the high freq. word list. Though I got only 4 antonyms & 2 synonyms in the paper but it
is enough & rest of all I marked option c. For passage the time left was very less. It’s a bit
difficult but don’t worry, u can get through even if u don know anything in verbal. Refer
barrons 12th edition only.

QUANTITATIVE APTITUDE:

It consisted of 38 questions 40 mins. Very easy. All previous year questions were
repeated. Sometimes they don’t even change the data. I will suggest that go through all d
previous yrs papers.Some questions which I remember are given below:

1. Exact power of 2?

Ans: 4096 , Hint: 2°10=1024,2"12=1024*4=4096.

2 Find the result of the following expression if, M denotes modulus operation, R denotes
round-off, T denotes truncation: M(373,5)+R(3.4)+T(7.7)+R(5.8)
Ans: 19

3. What is the largest prime number that can be stored in a 9-bit memory?
Ans: 509

4. Find the physical quantity in units from the equation:
(Force*Distance)/(Velocity*Velocity)
Ans: Ns2/m

5. Find the value of @@+25-++@16, where @ denotes "square" and + denotes "square
root".
Ans: 621

6. If G(0) = -1 G(1)= 1 and G(N)=G(N-1) - G(N-2) then what is the value of G(6)?
Ans: -1 bcoz g(2)=g(1)-g(0)=1+1=2 g(3)=1 g(4)=-1 g(5)=-2 g(6)=-1

7. Convert the decimal number 310 to the base 6.
Ans: 1234
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8. Find the missing number in the series: 2,5, ,19,37,75
Ans: 9

9. In a two-dimensional array, X(9,7), with each element occupying 8 bytes of memory,
with the address of the first element X(1,1) is 3000, find the address of X(8,5)?

10. What's the answer for that if A, B and C are 8 bit no's. They are as follows: A->110
00101B->00110011C->0011101 0(-=minus, u=union) Find ((A - C) u B)
=9

Ans: 187, Hint: To find A-C, We will find 2's compliment of C and them add it with A,
That will give us (A-C) 2's compliment of C=1's compliment of
C+1=11000101+1=11000110 A-C=11000101+11000110=10001001 Now (A-C) U B

is .OR. Logic operation on (A-C) & B 10001001 .OR . 00110011 The answer is =
10111011, Whose decimal equivalent is 187

11. Select the odd one out a. SMTP b.WAP c. SAP d. ARP
Ans: ¢

12. Select odd one- sql, db2, Sybase, http
Ans: http

13. Which of the following are orthogonal pairs? a. 3i+2j b.itj c. 2i-3j d. -7i+j
Ans:a&c

14. Number of faces, vertices and edges of a solid planar cube. a. 12,8,6 b.4,6,8 c. 6,8,12
d.6,12,8
Ans: ¢, Hint: faces=6, vertices=no. of points or corners where edges meets=8, edges=12

15. A file is transferred from one location to another in 'buckets'. The size of the bucket is
10 kilobytes. Each bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The
transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt
of the bucket the receiver sends an acknowledgement that reaches sender in 100
milliseconds. Assuming no error during transmission, write a formula to calculate the
time taken in seconds to successfully complete the transfer of a file of size N kilobytes.
Ans: (N/1000)*(N/10)*10+(N/100)......... (not sure)

16. Which of the following is a singular matrix.
Ans: Determinant must be zero.

17. If Rs.1260 is divided between between A, B and C in the ratio 2:3:4, what is C's share?
Ans: Rs. 560

19. A graph was given. And equation of the curve was asked.

Ans: log 10x
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20. In a city, temperature at noon varies according to -t*2/6 + 4t + 12, where t is elapsed
time. Find the percentage change in temperature from 3pm. to 6 pm

Ans: In equation first put t=3, we will get 25.5........ccccvveevennee. (1) Now put t=6, we will
et 42, i (2) So %change = ((42-25.5)/42)*100) =39.3

21. SURFW Code is translated as SHEET.....these kind of questions were there.....

22. 2 students get 3 and 3.5 in their class exam and 1.4 and 1.65 in final exam
respectively. Wt might be the class marks of 3rd student who have got ‘0’ marks in final
exam?

23.find the value of the 678 to the base 7.
Ans: 1656

24 .find the result of following expression if M denotes modulus operation,R denotes
round off, T-truncation: M(373,5)+R(3.4)+T(7.7)+R(5.8)
Ans: 3+3+7+6=19

25. If TAFJHH is coded as RBEKGI then RBDJK can be coded as?
Ans: PCCKJ

26. Three companies are working independently and receiving the savings 20%, 30%,
40%. If the companies work combinely, what will be their net savings?

Ans: suppose total income is 100 so amount x is getting is 80 y is 70 z =60 total=210 but
total money is 300 300-210=90 so they are getting 90 rs less 90 is 30% of 300 so they r
getting 30% discount

27. If n=10*18*38 which of the following is not an integer? a. n/40 b. n/90 c. n/72 d. n/35
Ans: (10*18*38)/35 is not an integer so ans = d (n/35) 28. The program size is N, the
memory occupied by the program is 4000sqrt(N).if the program size is increased by
1%.then what is the percentage increase in memory,

Ans: 0.5%

29. which of the following has highest standard deviation? A)5,0,5,0,5,0. b)5,5,5,5.5,5
©)5,5,5,5,0,5 d)-5,5,-5,5,-5,5

Ans: the formula for finding std.deviation is squre root of summation (x-(x
bar))"2/n,where n is the no. of terms.

30. b,v,q,q,m,b,v,f,m,g,v.f ,f,v,fm,b,v.f,b,g,d,v,f,a,m,v,f.v,f,f. How many v's are such that
each v is followed by f next to it, if the f is not followed by f next to it?

31. A power unit is there by the bank of a river 900 mtr wide. a cable is made from unit
to power plant opposite to that of the river and 3000 mtr away from the power unit. the
cost of the cable below water rs 5/mtr.and cost of cable on the bank is rs 4/mtr.find the

point where cable cut thru river.

Ans: 2100
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32. My flight takes of at 2 am from a place at 18N 40E and landed 10 HRS later at a
place with co-ordinates 36N 40W.WHAT IS THE LOCAL TIME WHEN MY PLANE
LANDED.

a) 2.50 pm,b)6.00 pm, c) 6.40 pm,d)8.00 pm

Ans: for every one degree from east to west or west to east there is time change by 4
minute.if we r going from east to west then subtract the time otherwise add. here plane is
going from 40 dgr east to 40 dgr west.therefore there is total change of 80 dgr i.e by
80%4=320 minutes or 5 hrs and 20 minutes.therefore time taken by plane is 2+8-5 hour
20 minutes i.e 6.40 pm.

33. Find d unit of given expression - (Force*Distance)/ (Velocity *Velocity)?
Ans: MASS

34. 1.SCOOTER --------- AUTOMOBILE--- A. PART OF
2.0XYGEN------m-- WATER ------- B. A Type of
3.SHOP STAFF-------FITTERS------ C. NOT A TYPE OF
/5 ] 5[ ¢ Ju—— REPTILE---- D. A SUPERSET OF

Ans: 1)B 2)A 3)D 4)C

There were 3 questions on vein diagram: some speak French, some speak English....... &
3 questions on bar graph.....For these type of questions r.s.agrawal is best.

CRITICAL REASONING:

This section consisted of 3 passages and 4 questions each(total 12 question). It was for 30
mins. All the questions were from 12 edition Barron’s . They don even change the data
and the order of questions. They just cut copy paste from BARRONS 12 EDITION.
Since it was online test for us so everyone had different set of questions. For this section I
would suggest that do all the analytical passages, having 4 or more questions, from the 5
model test papers of Barron’s 12th edition. if u r not able to understand then just learn or
mug up the answers. The passages that I got were:

1. First question was red and brown marriage group......

2. Second was hotel Miramar.

3. Third was the Prahtu & Brahtu.

TECHNICAL AND HR INTERVIEW:

I had the technical & hr interview on the next day, in the afternoon just after lunch. My
first question was tell about ur self. I m from ECE branch & since I haven’t mentioned
any subject of interest so they started asking the basics of electronics....... Like
diode,rectifier(half wave,full wave,center tapped,bridge rectifier etc....),characteristics of
diode,zener diode,avalanche breakdown, BJT, FET, uses of pnp transistor,
configurations(common base, CE, CC), gain factor B etc........... Then he started asking
from digital elex like multiplexer, demux, decoder, flip flops(types, logic diagram,
etc.....), thyristors from power elex,some quest were from communications........ then
he asked the basics of c++ & asked me to write a program for finding largest of 3 nos.
comparing a no. not more than twice, in one line.
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Hint: a>b?(a>c?a:c):(b>c?b:c)

Then they asked general questions like: Why tcs? u r from elex background then why IT
sector? etc......... Please remember whether ur a IT or a non IT student they expect u to
have some basic idea about ¢ or c++. He gave me some situations asked that what will u
do in that situation........... plz keep in mind that even if u don’t know the answer just
give a cute smile & be confident.......

I thought that my tech & hr were combined but after some time I got a call for hr . there
he asked the similar questions like tell abt ur self, why tcs,etc........ then he asked about
my father what he do & family background...... then he asked about the TATA crucible
('a quiz) that I mentioned in my cv...... asked my hobbies & asked that what I think on
India Vs Australia controversies.......... DO prepare basic information about
tcs.(especially its vision mission n values...... its CEO,chairman..company’s status.recent
news about comPANY....etc... & listen the pre placement talk carefully). Finally they
asked me do u want 2 ask anything?......so DO prepare some gs 4 this.......... What I
asked was that :what I m lacking & what u expect me to do to improve it , since I have
still 1 yr to spend at the college b4 joining, so it can benefit me as well as the company.
He smiled & answered.

My friends & my seniors helped me a lot....... 1 thanx to all of them.....the main thing is
that just be confident and have a smile on your face. That is the secret to get through TCS.
In the night the results were declared & I was one among the students to be selected.

TCS PAPER ON 11th MARCH 2008 AT LUCKNOW

Hi friends i am RAHUL from INTEGRAL UNIVERSITY . ..i have got placed with
TCS, thru campus placements......out of 207 .students 98 cleared written and finally 32
selected. n i am thankful to each one of u for being so informative thru this group n
specially to all those who provided me with info abt TCS in last few days... thr selection
procedure.

1. u need to hv first class throughtout(10th,12th,grad)
2. engineering student then 60% n above
3.if post grad(MCA) 60% n above

Paper pattern

1- set has three sections

a> English(10 antonyms n 10 syno..)...( 32 marks 20 mins)

b> Reading comprehension passages and comleting sentence(6 + 6)marks

2nd section is Quantitative...(40 mins 32 ques)..
3rd section is Critical reasoning..(30 mins 12 ques..)
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FOR ANTONYMS N SYNONYMS

just go through the barrons 12 edition .but i think thats too much so its better not to
worried about the antonyms and synonyms .they are too tough and dont waste ur time in
that becoz the time alloted for this section is just 20 minutes....... and you have to
complete the reading comprehension and sentence completion as well..............

REMEMBER- there is no sectional cut off and no upper or lower cut off neither any type
of negative marking......so attempt all the question.....

QUANTITATIVE SECTION
they are just repeating these section every time some of the questions are TCS PAPER
ON 19th JANUARY 2008

1) If log 0.317=0.3332 and log 0.318=0.3364 then find log 0.319 ?
Sol) log 0.317=0.3332 and log 0.318=0.3364, then
log 0.319=l0og0.318+(10g(0.318-0.317)) = 0.3396

2) A box of 150 packets consists of 1kg packets and 2kg packets. Total weight of box is
264kg. How many 2kg packets are there ?
Sol) x= 2 kg Packs

y=1 kg packs

x+y=150 ... Eqn 1

2x+y=264 ... Eqn 2

Solve the Simultaneous equation; x = 114
s0, y =36

ANS : Number of 2 kg Packs = 114.

3) My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place
with coordinates 36N70W. What is the local time when my plane landed?

6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00

Sol) The destination place is 80 degree west to the starting place. Hence the time
difference between these two places is 5 hour 20 min. (=24hr*80/360).

When the flight landed, the time at the starting place is 12 noon (2 AM + 10 hours).
Hence, the time at the destination place is 12 noon - 5:20 hours = 6: 40 AM

4) A plane moves from 9°N40°E to 9°N40°W. If the plane starts at 10 am and takes 8
hours to reach the destination, find the local arrival time ?

Sol) Since it is moving from east to west longitide we need to add both

ie,40+40=80

multiply the ans by 4

=>80*4=320min

convert this min to hours ie, Shrs 20min

It takes 8hrs totally . So 8-5hr 20 min=2hr 40min

So the ans is 10am+2hr 30 min

=>ans is 12:30 it will reach
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5) The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A
programmer sends a program to receiver. There it waits for 10 milliseconds. And
response will be back to programmer in 20 milliseconds. How much time the program
takes to get a response back to the programmer, after it is sent? Please tell me the answer
with explanation. Very urgent.

Sol) see it doesn't matter that wat the time is being taken to fill the bucket.after reaching
program it waits there for 10ms and back to the programmer in 20 ms.then total time to
get the response is 20ms +10 ms=30ms...it's so simple....

6) A file is transferred from one location to another in 'buckets'. The size of the bucket is
10 kilobytes. Each bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The
transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt
of the bucket the receiver sends an acknowledgement that reaches sender in 100
milliseconds. Assuming no error during transmission, write a formula to calculate the
time taken in seconds to successfully complete the transfer of a file of size N kilobytes.
(n/1000)*(n/10)*10+(n/100)....as 1 hv calculated...~~!not 100% sure

7) A fisherman's day is rated as good if he catches 9 fishes, fair if 7 fishes and bad if 5
fishes. He catches 53 fishes in a week n had all good, fair n bad days in the week. So how
many good, fair n bad days did the fisher man had in the week

Ans:4 good, 1 fair n 2 bad days

Sol) Go to river catch fish

4*9=36

T*1=7

2*5=10

36+7+10=53...

take what is given 53

good days means --- 9 fishes so 53/9=4(remainder=17) if u assume 5 then there is no

chance for bad days.

fair days means ----- 7 fishes so remaining 17 --- 17/7=1(remainder=10) if u assume 2
then there is no chance for bad days.

bad days means ------- 5 fishes so remaining 10---10/5=2days.

Ans: 4 good, 1 fair, 2bad. ==== total 7 days.

Xty+z=7--------- eql

O*x+7*y+5%7=53 ------- eq2

multiply eq 1 by 9,

9*x+9*y+9%7=35 ---mmmmmmee- eq3

from eq2 and eq3

2*y+4*7=10-----eq4

since all x,y and z are integer i sud put a integer value of y such that z sud be integer in eq
4 .....and ther will be two value y=1 or 3 then z=2 or 1 from eq 4

for first y=1,z=2 then from eql x=4

$0 9*4+1#7+2%5=53.... satisfied

now for second y=3 z=1 then from eql x=3

S0 9*3+3*7+1*5=53 ...... satisfied
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so finally there are two solution of this question
(x,y,2)=(4,1,2) and (3,3,1)...

8) Y catches 5 times more fishes than X. If total number of fishes caught by X and Y is
42, then number of fishes caught by X?

Sol) Let no. of fish x catches=p

no. caught by y =r

=5p.

r+p=42

then p=7,r=35

9) Three companies are working independently and receiving the savings 20%, 30%,
40%. If the companies work combinely, what will be their net savings?
suppose total income is 100

so amount x is getting is 80

yis 70

z =60

total=210

but total money is 300

300-210=90

so they are getting 90 rs less

90 is 30% of 300 so they r getting 30% discount

10) The ratio of incomes of C and D is 3:4.the ratio of their expenditures is 4:5. Find the
ratio of their savings if the savings of C is one fourths of his income?

Sol) incomes:3:4

expenditures:4:5

3x-4y=1/4(3x)

12x-16y=3x

9x=16y

y=9x/16

(3x-4(9x/16))/((4x-5(9%x/16)))

ans:12/19

11) If G(0) = -1 G(1)= 1 and G(N)=G(N-1) - G(N-2) then what is the value of G(6)?
ans: -1
bcoz g(2)=g(1)-g(0)=1+1=2

12) If A can copy 50 pages in 10 hours and A and B together can copy 70 pages in 10
hours, how much time does B takes to copy 26 pages?

Sol) A can copy 50 pages in 10 hrs.

A can copy 5 pages in 1hr.(50/10)
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now A & B can copy 70 pages in 10hrs.

thus, B can copy 90 pages in 10 hrs.[eqn. is (50+x)/2=70, where x--> no. of pages B can
copy in 10 hrs.]

so, B can copy 9 pages in 1hr.

therefore, to copy 26 pages B will need almost 3hrs.

since in 3hrs B can copy 27 pages.

13) what's the answer for that :

A, B and C are 8 bit no's. They are as follows:
A->11000101

B>00110011

C->00111010(-=minus, u=union)

Find (A-C)uB)=?

To find A-C, We will find 2's compliment of C and them add it with A,
That will give us (A-C)

2's compliment of C=1's compliment of C+1
=11000101+1=11000110

A-C=11000101+11000110

=10001001

Now (A-C) U B is .OR. logic operation on (A-C) and B
10001001 .OR . 00110011

The answer is = 10111011,

Whose decimal equivalent is 187.

14) One circular array is given(means memory allocation tales place in circular fashion)
diamension(9X7) and sarting add. is 3000, What is the address of (2,3)........

Sol) it's a 9x7 int array so it reqiure a 126 bytes for storing.b'ze integer value need 2 byes
of memory allocation. and starting add is 3000

so starting add of 2x3 will be 3012.

15) In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory,
with the address of the first element X (1, 1) is 3000, find the address of X (8, 5).

Sol) initial x (1,1) = 3000 u hav to find from x(8,1)so u have x(1,1),x(1,2) ... x(7,7) =sou
have totally 7 * 7 = 49 elementsu need to find for x(8,5) ? here we have 5 elements each
element have 4 bytes : (49 +5-1) *4 =212 ----- (-1 is to deduct the 1 element ) 3000 +
212 =3212

16) Which of the following is power of 3 a) 2345 b) 9875 c) 6504 d) 9833

17) The size of a program is N. And the memory occupied by the program is given by M
= square root of 100N. If the size of the program is increased by 1% then how much
memory now occupied ?

Sol) M=sqrt(100N)

N is increased by 1%

therefore new value of N=N + (N/100)

=101N/100

Submit your resume to cvs@123eng.com
www.123eng.com Engineering the Engineers

Page 97 of 540



Visit www.123eng.com Engineering projects
Chat with other engineers at www.123eng.com/forum

M=sqrt(100 * (101N/100) )
Hence, we get M=sqrt(101 * N)

18) 1)SCOOTER --------- AUTOMOBILE--- A. PART OF
2.0XYGEN----------- WATER ------- B. A Type of
3.SHOP STAFF------- FITTERS------ C.NOT A TYPE OF
4. BUG ------------- REPTILE------ D. A SUPERSET OF

DB 2)A 3D 4)C

19) A bus started from bustand at 8.00a m and after 30 min staying at destination, it
returned back to the bustand. the destination is 27 miles from the bustand. the speed of
the bus 50 percent fast speed. at what time it returns to the bustand this is the step by step
solution:

a bus cover 27 mile with 18 mph in =27/18= 1 hour 30 min. and it wait at stand =30 min.
after this speed of return increase by 50% so 50%of 18 mph=9mph

Total speed of returnig=18+9=27

Then in return it take 27/27=1 hour

then total time in joureny=1+1:30+00:30 =3 hour

so it will come at 8+3 hour=11 a.m.

So Ans==11 a.m

20) In two dimensional array X(7,9) each element occupies 2 bytes of memory.If the
address of first element X(1,1)is 1258 then what will be the address of the element
X(5,8)?

Sol) Here, the address of first element x[1][1] is 1258 and also 2 byte of memory is given.
now, we have to solve the address of element x[5][8], therefore, 1258+ 5*8*2 = 1258+80
= 1338 so the answer is 1338.

21) The temperature at Mumbai is given by the function: -t2/6+4t+12 where t is the
elapsed time since midnight. What is the percentage rise (or fall) in temperature between
5.00PM and 8.00PM?

22) Low temperature at the night in a city is 1/3 more than 1/2 high as higher temperature
in a day. Sum of the low temperature and highest temp. is 100 degrees. Then what is the
low temp?

Sol) Let highest temp be x

so low temp=1/3 of x of 1/2 of x plus x/2 i.e. x/6+x/2

total temp=x+x/6+x/2=100

therefore, x=60

Lowest temp is 40

23) In Madras, temperature at noon varies according to -t*2/2 + 8t + 3, where t is elapsed
time. Find how much temperature more or less in 4pm to 9pm. Ans. At 9pm 7.5 more
Sol) In equestion first put t=9,
we will get 34.5.....ccvvviviiiennne, (1)
now put t=4,
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we Will get 27...ocovvveviieeieeeeen. (2)
so ans=34.5-27
=75

24) A person had to multiply two numbers. Instead of multiplying by 35, he multiplied by
53 and the product went up by 540. What was the raised product?

a) 780 b) 1040 c) 1590 d) 1720

Sol) x*53-x*35=540=> x=30 therefore, 53*30=1590 Ans

25) How many positive integer solutions does the equation 2x+3y = 100 have?

a)50 b)33 c¢)l16 d)35

Sol) There is a simple way to answer this kind of Q's given 2x+3y=100, take l.c.m of 'x'
coeff and 'y' coeff i.e. l.c.m of 2,3 ==6then divide 100 with 6 , which turns out 16 hence
answer is 16short cut formula--- constant / (L.cm of x coeff and y coeff)

26) The total expense of a boarding house are partly fixed and partly variable with the
number of boarders. The charge is Rs.70 per head when there are 25 boarders and Rs.60
when there are 50 boarders. Find the charge per head when there are 100 boarders.

a)65 b)55 ¢)50 d)45

Sol)

Let a = fixed cost and k = variable cost and n = number of boarders
total cost when 25 boarders ¢ =25*70 = 1750 1i.e. 1750 =a + 25k

total cost when 50 boarders ¢ = 50%60 = 3000 i.e. 3000 = a + 50k
solving above 2 eqns, 3000-1750 = 25k i.e. 1250 =25k i.e. k=50
therefore, substituting this value of k in either of above 2 eqns we get
a =500 (a=3000-50*50 =500 or a= 1750 - 25*50 = 500)

so total cost when 100 boarders = ¢ =a + 100k = 500 + 100*50 = 5500
so cost per head = 5500/100 = 55

27) Amal bought 5 pens, 7 pencils and 4 erasers. Rajan bought 6 pens, 8 erasers and 14
pencils for an amount which was half more than what Amal had paid. What % of the total
amount paid by Amal was paid for pens?

a)37.5% b)62.5% c)50% d) None of these

Sol)

Let, 5 pens + 7 pencils + 4 erasers = x rupees

so 10 pens + 14 pencils + 8 erasers = 2*x rupees

also mentioned, 6 pens + 14 pencils + 8 erarsers = 1.5%x rupees

so (10-6) =4 pens = (2-1.5)x rupees

so 4 pens = 0.5x rupees => 8 pens = X rupees

so 5 pens = 5x/8 rupees = 5/8 of total (note x rupees is total amt paid byamal)

1.e 5/8 = 500/8% = 62.5% is the answer

28) I lost Rs.68 in two races. My second race loss is Rs.6 more than the first race. My
friend lost Rs.4 more than me in the second race. What is the amount lost by my friend in
the second race?
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Sol)

X +x+6 =18 68

2Xx +6 =68

2x = 68-6

2x =62

x=31

x 1s the amt lost in I race

x+ 6 = 31+6=37 is lost in second race
then my friend lost 37 +4 =41 Rs

29) Ten boxes are there. Each ball weighs 100 gms. One ball is weighing 90 gms. 1) If
there are 3 balls (n=3) in each box, how many times will it take to find 90 gms ball? ii)
Same question with n=10 iii) Same question with n=9

to me the chances are

when n=3

(1) nC1=3C1 =3 for 10 boxes .. 10*3=30

(i1) 10C1=10 for 10 boxes ....10*10=100

(111)9C1=9 for 10 boxes .....10%9=90

30) (1-1/6) (1-1/7).... (1- (1/ (n+4))) (1-(1/ (n+5))) =?
leaving the first numerater and last denominater, all the numerater and denominater will
cancelled out one another. Ans. 5/(n+5)

31) A face of the clock is divided into three parts. First part hours total is equal to the sum
of the second and third part. What is the total of hours in the bigger part?

Sol) the clock normally has 12 hr

three parts x,y,z

xty+z=12

X=ytz

2x=12

x=6

so the largest part is 6 hrs

32) With 4/5 full tank vehicle travels 12 miles, with 1/3 full tank how much distance
travels

Sol) 4/5 full tank= 12 mile

1 full tank= 12/(4/5)

1/3 full tank= 12/(4/5)*(1/3)= 5 miles

33) wind blows 160 miles in 330min.for 80 miles how much time required
Sol) 160 miles= 330 min

1 mile =330/160

80 miles=(330*80)/160=165 min.

Submit your resume to cvs@123eng.com
www.123eng.com Engineering the Engineers

Page 100 of 540



Visit www.123eng.com Engineering projects
Chat with other engineers at www.123eng.com/forum

34) A person was fined for exceeding the speed limit by 10mph.another person was also
fined for exceeding the same speed limit by twice the same if the second person was
travelling at a speed of 35 mph. find the speed limit

Sol) (x+10)=(x+35)/2

solving the eqn we get x=15

35) A sales person multiplied a number and get the answer is 3 instead of that number
divided by 3. what is the answer he actually has to get.

Sol) Assume 1

1*3=3

1*1/3=1/3

so he has to got 1/3

this 1s the exact answer

36) A person who decided to go weekend trip should not exceed 8 hours driving in a day
average speed of forward journey is 40 mph due to traffic in Sundays the return journey
average speed is 30 mph. How far he can select a picnic spot.

37) Low temperature at the night in a city is 1/3 more than 1/2 hinge as higher
temperature in a day. Sum of the low temp and high temp is 100 c. then what is the low
temp.

ans is 40 c.

Sol) let x be the highest temp. then,

x+x/2+x/6=100.

therefore, x=60 which is the highest temp

and 100-x=40 which is the lowest temp.

38) car is filled with four and half gallons of oil for full round trip. Fuel is taken 1/4
gallons more times in going than coming. What is the fuel consumed in coming up.
Sol) let feul consumed in coming up is x. thus equation is: x+1.25x=4.5ans:2gallons

39) A work is done by the people in 24 min. One of them can do this work alone in 40
min. How much time required to do the same work for the second person
Sol) Two pe